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������ ������ �/��� � � �� �0�0���� 1��2�� ����1�� 3�� ��� 1��� 4�5������&� ����
�0�0�0����1��2������ 6��� ����7� ���� � ����������1����8��4�5������ �� ���� ����&

���� ��������� �/��� ��� 1����� 1��� 4�8�1����� ��9� � ���01� 3��0:0� � 0��� ;
���� ���<�� ����� � � � � �� � � � �<��� ����8���� 1��2�� ����1�� 3��0�9� 10� 1��2������ 2=���
�����4�5������������>���9� ���?���� � ��� �� ���5�� � �����&

%����� 1����� �������:��� 1 ��� � ���4?� �0�0� � ���1������� 3���� ������9� ����
1��2�������� � �/1��� ��� ��� � ����:��� 3��� �5&� ��� ����� 5�� ��������� 1���� 2�����
�>��� �?� ��4�� ������� 4��2����� � ����?9� � �������?�� ������������ � �/ � 1�����3 � �0��
��� �����1�:���10�0��0 � 3�� ����&� @

����������� � � � ��?� �� � � ��� �9� ����������� ��<��?� 1��� ���� ���������� ��8�����
� � � �9� �� ��8����  ������������� �0�����9� 4�8�������� ��8��� 1=���� 1��� ���� ����;
������ �050��05�0���� � �0��0�0�9� �� �A���� 10�0�&� � � ��������� �������� �������
������� 2���9� ��8��� 1=���� 1��� ����� ������ ����� �0�0��� 2����&� B� ������ 0��� �� �
1��� �0��9� ��� �5� 1��� 4�8����� � ����� 3����� ���2�� ��������� ��9� ���������� 1=����
� �� ��?� 1��� ����� �� ��� � / �� � � �5���9� 2=��1�����C� "�����  �� ��� ���� �9� �����1�����9�
���������� �3�0� �� � �������� ���2�� 1��� ��������� ��9� 1=���� 0�4?� 1��� ������ �D��,�
����9� � �5�����9� �1�����9� � � �<�� 4�� � ���� �9� � � �<� � � �����3���� �0����� ����� �����
� � � � �� � � � � 0 � �� / � 3��0:0� 1��2������ ����� � �� � � � ����� ����C&� B� � �1����� ������
50�0�0��9� �E���<����9� � � �� ������� ������ ������ 4�������� ����5��� ��������� ���� 1���
 �� �� ��=:����>�1����� ��� ��50�0>���10�0�� ����C&

��/�  �>��� �3 � � ��� ��� � �� 4���������� � � ��1��� �� � � � 0��� �� � �������9�
8�� �� ������ =��� �� � 1���� 10� ������8�9� 10� ��50�0� ��� � �� �0� �� � � � � � �0�� 0 9�
� ��?���������� ���� ���9�10����� �10�0>� 3�0� �:����50�� 2=�� � ������&

����������� 10� ����?� ��� ������������9� 10� �0�?� �� ��� �/�� ��� � � � � �3��������
��9� � � �� ������� ���� <��� ����� ����������� 1�����8�� ���?�����������5��� � ���&� 	 �8���
� � �� 5�� �� ��F� � � �� � 0����� � ������9� ��1���������� 2=��� 10� 2�1�� ���������� 1�����
�������� 2=����� ��9� � ����������� ���� �� � ���05� 10�0��8��� 3���� � ��?� � ���;
������� � ������ 3��0:0� ������ ��������� ������1���8�:�� 1��� ���5��� ��5� ��9�
10������� 1��� ������ ���� ��������9� ������������ ����� 1��� ���0>� ���� 2=����� �:��
/��� � ��� ��� >����<5�� ���&

� ��A� �0�� � �����<�� �������� ����4��� ���: ������� ����1� ��8��  0� �= ������� ��
��������

'� ���D��� � � � �� �������� ���9� C�D
G� �� �1��������9� �0�� �������� � �������� ���9

E� H� �� � ��<��9������ �9� ����1��� ���� � �� �0������������ ���&
I� �� 	 � �<������������ ���9
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�0� �= ��� ����� � ����� ���� � � � � �� � � � >��� �0������9� � ���� � ��� � ���>����
��5��� � � 3��0:0� 2�1�F�>��� �0������9�1������ ���>���� ���� �5��� � ���&� � ��� �����
10� �= ��� ����� ���� � � �� 1���� /3� � ����� 1 �  � � �1�  � � �1���� ���>� ��������� �5��� � 9�
10��= ������� ��1��������� �3>������ �����������1����� �5� 10�0�� 0 �0�&

��5� ������� �0������� ����������� � ����:��� 3��� ���5&� � � � � �� =���� 050��
05���� �� ��5��� � � ��������� 3�0� ���9� 3�������� �������� �/��� ��� ��5�� ��� 3����
� ���������� � � ���� � �� �� �� ��� ��������� 2�8�� � ��� �59� ��� � ������9� ��� ��� 4�����
� ������ 10�0�� �5&� L��� ����� ��5��� � � �������,� ���� �� ��� �8�� � � �� �� ����8����
��� ������ �59� �������� ��� ��� ���� �5&� ����� 10� 2�1�� �������� >��� ��>����
�1��������� ��5��� � � 10�0�0���� ���������� ����������� ����� ����� ���� 1��1�����
2�/�� ��&

�0������� � ���������� ������ � � 3���� ����� ����� �5��� ���?� �� ��� �/����� ��
�<��� ����8���� ��� �����1���8��� 1��� ����M��� � ���1�� ��5��� ������ 1��/3� � 5������
����������� ��50�� 2=������� �����4�� 10� �0�0����<8�5������� � ���8������ ��� �����
���&� � ����������� �0������� ����� �5��� �D��� � � �9� � �5�����9� �1�����9�� � �� � �� � ��
4�� ����������9� �� �<��� ����� 1� ��8�� ����� ������� 4�� 1��� ����� � 1����� >��2�� ;
1�������� � �1����� ������������ ���<�� �������� �����/������ ���� 4�� 3�� � ���>��� �
� ��� ������ 3����� �5���� 3��0�/� �1�����1������ ����� ����1�� ��5� ����1���4�5����
1�����&� 	 ��<�� N���<� � �5����� ��� � �O� ������ ���� ���������� 10� 4�5������ ������
1� �����9� ��� � 0��1��9� ��� � �� � � ���� ���� ����>����� �5�� � ���8���� � ���� 9�
�1�������� ���� �� � � � � � � 050�8�� ��5� �:�� /� �� ��� F� 3����?� � �����5��� �0 �0 ��4��
���������� 4�80���2����� 10������� 6������ ���<� � ��� �����7� ���� �4�����&

� � � :��� 10� ������9� ����� ����� ��� ��������������� � �5� ��� ������� � � � � �� � � �
�������� �0������ � 8��1�� 4������ 3�0���� �</�5� ����� �� �� ��1���� ������&� ������
��5�������� �����5� ���� N���<� � �5����������� ��5������ ��5��� ��� �������� <8�5�1���
��5�8�� �/��� 10���� �1����� � � �<����� � �3���5&�N�4���� 	 ��<��N���<������&

� ���� � ������� ���������
� �50�0� �0� -����. ��0���������
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�Q�. � �" �� �! �� � ������ 1��� ��� �� � � �� �� � ��� 4�� 1� �8�� ������&� R� �����?�
1��� ��� �� �4��������4�� ���������&� R� ���<�� � ������� 0� 0� �� ����4�� � ��D���� � � ��8�;
����&� R� �� ��� 4�� ���<� ��� � ����������&� R� �� ��� 4�� ���<� ���  � ���� �&� R� 	�����
N���<���4�� ���� ��� � � � � �� ��&� R� L��2��1��������� �� ��&� R� L��2��1������� 3����
������ �/&� R�����4?�����>������� ��&�R� �������� ���>�����3������ ��� �/&�R�"0�D<� � �
������ 1��� ����1�� ��<�?� 3��0:0&� R� "0�D��� � �0���4�� 3��0:0� � �� �� � ��� �&� R�
� ��������� �� ��&� R� � ���������� 4����:������� � �� � � �� R� 	 � ������ �� ��&� R� "���;
� ���� � � �� �� ���� 4�� � 0��� � �� ���&� R� 	 ������� ���� �<�������&� R� 	 ������� � 4��;
��: �� � ��4�� �1�� �� � ��� � � � �� � �� � � �� R� "�5��4�� ������� �� ��&� R� "�5��4�������9�
�� �� � �� � � � � ��D0��� ���� � � � <� �� ��:�����&�R�#D��� � � � � ����������������� �� ����&

� ����?�1��������� � ��������4�� 1� ��8�� �������
'� �� � �� ��?�1��� ���&� 	����� N �� �<� �5����� ��� �� � 1��� � � �0�0�0�� 4�� 1���

����� � ����� �����9� � �� �� ������� � �0������� 1��� � �8�0������� ��9� 10�0� L��;
2��1������� 4������������� ���������� �� �0 �� 4�� ������ 10�0�� 0 �0�&� �0� ���0�9�
���������� ������ 2=������F� ��������9� 10� ��<�?� � ��0�0�� ����� ������� � � � � ��2�5���
��������������� ��� � � �� � ���� / � � �3:�0� �3�0� 10��0 9� � �� � � � �� �5���� 10�0��0 �
3�0����9�� � � � �� ����9� � � ��� ��� � ������<� ���9� �������� ��40 0����&

G� �� � ������1� ��8���/� ���� �� � � � ���F
�����8����� � ������ ���������&� �0����� �0� � � � � � �� ������� �04����� 3���9�

������ 	������ N���<� ����������� �3�0�0>� >��2��1������ 4���������� ����������
1�������� � � 3���� ���������&� �0������6��<�?�4�� ���<4?7� ������� ��� �����&

����4?� ������9� ����� ���1������ 1��������9� ��>��� ��� ����8��� � � ��� � ��� 3�0>�
������ ��� �� �����5� 1�5�� �1�������9� �0�� ������� 1���� ������ 1��� ����� 10�0�;
� 0 �0�&
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� �5����� 	 ��� ���� � �5����� ������ ������ 3���� 1����� � �1����� L��2�� ;
1�������� ���������� 1������ � � 3��0������ ������9� ������� � � ���� ��9� S�������
��<��� �� ���������� � � ���� ��� ����� 10����� �3������� 1350�� 0 9� �������� � � �13�;
�0 � 3�� ����� ���� N����� � �5�������� ��� �3�� 4�� ��� 1����� L��2��1���� 3����
� �5����� �0��� � ���� 6����������� ������� 4�� ������7� 1����� ����������L��2�� ;
1��� 3������ 2=����� � 9� 3���� 4����������� � � � � � � ��?� ��������� ��� �3�0� 4�� ���
� ���� � ���� 3���� ���<� � ��������0������ �� ������ 10�0�� 0 �0�&� ������������
102��������5����� � � � ��?�4���1��?����9� ��8��� ���<� � �������&

����8����� � 0������� ���������&� �0����� �0 � � ��� � � � � �� � �� �� 3�0��0:0� �5����
��������� 1���� ������ 1������ � � ��?����� ����� �3������� 1350�� 0 9���<�?� � �� �� � �;
�������� � �3��� � � 3���� ���������&

J/��8����� �<���� ���������&� �0����9� �������� 1���� ������ ��� �����?� 1���
���� ���� ��2���� 3�� ����� ���������&� �0����� 1��� ����� � � ����������� ������������ ����
�������� 0� �0�� 0 9� 3��� � � � ��� � � 3��0������  ��������&� �0������� ����9�
� �� � � �� 4�� � ��������� 0�20�� 1�5�� ����� ���� 10�0���� 1���� 10����9� ����� � ���;
� ������9� =5�������9� ��<��� 3�� ���  ��� ��� � � � � � ���0� � 10�0��0:0�� �� � � �/ � 1���
4�/����� ����� � ���0�� �0���� � ��� �< �5� 3��� �5���&� � �80�������� 4��>0��� �� ���>���
������ ����������� ��������10�8�� ��������&

� ����?�1���������4��������4�� ����������

H D�� � ����?� 1��� ������ � �� ����5� 4�������9������� ��������������� ����������
� �������9� � �� ��5� 10�0��0��� � � ��� ��� � � >�� � /3 � �0 �&� �58����� � � � ��?�1��� ���9�
���������� �����5� 1��� 	 ������� 4����:���� 1�������9� �����5� 1��� 	 ������ ��>��� ��� ��
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	 ���� �  �>��� �3�� ��� � 0� ��/ � 3���9� �������� � �  �������� �� �?� �������������
�������� �� � 1��� 5��9� �< <9� 	����� 3����5&� �0������� ����� �59� 1�5����� 10� 2�1��
����� � �� ��8�������9� �������������������0�� ��� � � ��� � �� � � �� � ��&

��� ���� � D� E� E� F � GH� �� I�

'(�� "���� � 1�5������ F�4����:�9� �0�� ���� ������ 5������� 3�� ��� �<��������
1��� ��������&� �0� ������ � � � 	����� N���<��� � ���0��0�&� T=��� � ��9� ���� N���<� ��
�5���� 4�� �1���� 3���� 4����:�� ������ 5������� ���� ���9� ������ 4����:�� ��4��������9�
��� � �� �0������� 5<��� �� � �0���5������&� 	���� 1� ��������� ��:�����&� �0�0�� �,�
/�� � ��� ��9� 	 ����� N���<��� 6S�8�1��4�80�7� �����&� B�0�� 4����:�9� 1� � � � 1��� 4���
������ �� ��� � / �� � � � ���55�����&� 	����� N���<����<  <9�4����� �� �1���4��� 3�������9�
� �� � 	������ 3� 4�������� 3��0 � 3�0��0&� � ����������� �� ]	 ��������� �4��� � ���C]� ��;
��� 1��� �0���� ����� � ����� �3��0�&� Q����� 	����� 1�5������ ���� ���9� ���?� ���9
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1� ��������4������8�:�� 1��� ��4������� ��:�����&� �=���� 3�� ���������� �<�� � ��4�;
80�� 10�0��09� ��� ���1� � � �1���  ��&� �0� � � � �� � �� � �10�� ����� ����8���/�� � � ���;
 ���:�� �5� <��� �� � 4����:���� �5���� � � � ����� �� �<� �10�0��� �5&� � �� ������� � � �;
:�� �5� �������� � �  ������ ���� ��� � 4��9� ��� � ��� �3�� 3�� ���� � � ���� ��� 3��0:0�
�/�� � ��� ���1���4��� ���8���� � 0���/� 10�0� � 0 �0�&

S��������� 	����� N���<��� � � �� ����� 1��� 4��� ����� ����440�� 3�0��� �5�4�� 3�;
����1� � � � � �����8��1���5���� � �� �480��10�0��� �5&� 6� ,A��O� ` V � � `a � 7

G^ �� S ��� �� �� ���� ������9� �� �?�� �9� 1��5���� 3�� �� ��9� � ��� � � �� �9� �����;
� �� �� �9� ������ ������ 1 � �?� 3�� ��� 2�1�� �<������� ������ ����� 1��� ��������&� �0�
�������� � 0��� ���� 3����� 4<���� � � � ��� ��9� ��5��?� 3�� ����9� ��8�55����9� ��������,�
���� 1���� 10�0��� � 5� �� ��� �����&� �0����� ��� � � 	����� N���<��� � �� �0��0�&� T= � ;
��� ��� �� 	����� N���<� 5<��� � �9� ��A���������9� � <10��� � ��� � � � 4�� ����� 1����� ��;
�������� � � � 1��� ��&� B ���� �� �9� 1��5��� �� � � ���55�����9� ����������� ���� ��9� ��;
���� ��9� 8�5D����� ������ ��9� 1� � � �  ������ ����1���� � ���2�1�� ������������10�0��;

� �5&� Z� 6����`�&�� 1 &� b6�� cdeS� � #��� !! � D
�4��&&� 	����� N���<� � � �� 4�/����� 1��� ��9� ���� ������ �� ����������� �������9�

��� �5� 1��� ����9� � �� � � �� < ��<� 1����0�9�1��� 	 ��������1 �  � � �N�����10�0��0:0���
����� 3��� �59�1� �������� ��A�������9� �<10�������������� ��� � ��� �<� �4�����5&

���� �� �� ������4���������5������ 	 �������4����:�9�� � �D?� ���������������������;
� � �10�0�� �� �� � ��&� T0�2=���:���5� �<�� � ��� �4����:�9���4���9� �� ��5�� ��1�����
	 �����N���<��� �1����:����  ��������&

	����� N���<9� 5���� � �9� ��A��� ���� � �9� � <10��� � ��� � � � 1��� 3��0:0� 2�1��
� �����8�� 3�� ������� � � � 1�����&� K������� ���� �3�� ����� ���� ��1��������� 3���� F�
10� 8������� � �� ���� ������ ����� ���� ���2�� 1���  ���� 4��� ����9� �3�� ����� ��8���
	 �����N���<���9� 3�����1� � � �� �����8���3��0�&

� �� ������� 1=���� 1�55��� ���� �� � � �9� � � ��� � � �9�3� � ��� ���� ������
3�� ����� 1��� 5��� ���� 	����� 3��� �5&� �0�0�� �/�� � ��� ��� ����8�� 1��� 	 �������4����;
:���� ���<��� �< � � �3� �0�&�Q����� � ���05��� �� 	 ��������1���� � �� ������� ������`,�
��� � � � �� �� � � � � � � � ��� ���� ��:���� 5� ��� 3��0 � 3���5� ��C� ���D����� � � ��������� � ;
���� �� � � ��� ��� ��:����� <8�5� 10�0�� 0 � 3���5� ��C�%����4����<8�5�10�0��� �1���
5������� ������	 ����� 3��1����C&&

������������ 	 ����� N���<��� � � � ��4�/�����1����:����� ���/�1��������� �������;
��1�� ���� � � � �� ���� �5&� � ��������� �<� � �� ���9� � <10��� ��� � 4����:���� �� �� �� �
� ��������� ���� ����9���� � � �� � �������1 ����� ��8���5�10�0�3��0 9�4��� � �?� � ��1�� �;
� ������1�����1���8��������/�� � � � ���� � ������&�6� _7� 9

G ' �� � ������ � ������� � �� �����&� 	�����N���<9� ��� � ��5���� ������ ��?��� � ��;
�0�� 1��� � � � � �� ��������� � 0���������&� �09�����N���<���� ���� ����9������� ���9��0� �� ��
���� ������ ��� � � ����1��� ��������&� � ������3�� �����1���  ��9�1��� �� �� �9�� ���� �� ���9�
1���  ��� � �>�1��� �� ��� � � ���0� � 10�0�0�9� 10� � �� �0� �� ��� ���� 1����� 1���
���?�����&� 9�a� ��,��� � �" #$ !%& '�9E��

�4��&&� �0� ������������ � ����0� � 3���� 1���  ��9� ��� � �� � �� � �� �� ��/� 1���
����� 4��0��� 2������ �5&� ����� 1��2�9��� ��8�9������ �9�2�/� ����1��3����4���������
� � �� �� � � � � ����� � �1���� � ���� 10�0��� �5&� Q����� � �/1��� ����� ������������
10�0�� ����� 10� 2�1�� 4�������� �<�5� 3����5&� �0�0�� �/�� � ��� � �� ��1�� �� �������>�
����� ���9� ������ ���9� �0������ � � 0 ��� � ��� 3�� ����� 4�� 4����:�� �  � � � ���� ����� ����4;
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40�� 3�0�0>� 10� � � �� ����8����� 1��� 4����:�� 10�0�� �� �� �  00��05� 1��� 4�����9�
1��� � � �� ��8�� ��������� ����� ��?5� 2=����� �5&� �0�0����� 1=���� 1��� 4�����9� ����9�
�������9� �0����� � � <��� � � ��������8�� � ���A������ �08���� ��/� 1��� 4�/�����
3����5&

������������ �<�� � ��� � ������8���� 3���� 	����� N���<� � � � � � � �� ���� � 0���,
����1��� ������� � � �0� � 3��0:0���� ����� �>��� �3� �0�&� 6� 6S,� '7

GG�� ����F� 1��� ��9� �� �<� � ��� � � � ���������&� 	 ����� N���<� ���� � ��������� ���
� 0���������&�S��3�0����� �9�� �� �A����� ���� ��2�1��1����9� � �� �0�� 3�� ���>�1�����
�<�� � ��� � 0� �����&� �4��&&&T�>��� �3� � ��� 	����� N���<� 9� ����  ����1����9� 3�0��1��;
� �������� 1 ��� 5����� 1���� �0��0��� �5&� S�� ���/� 1��� ����9� ��� � �� � �;
��� � ��� �� 9� � �� � �� �� ��8������ 	 ����� N���<��� � �������� �5&� Q����� 1=���� 1���
 ���� 1��� ����9� ���� � � �� � � ��� �9� � � �� �� ��8����� ��1���� 10�0�� �� � � � 1���5��9�
	 ����� 3��� �59� 10� ������1�� �<�����4�80���2������ �59�10���� ��� � �� �A������� � ;
��� ���� �5&

	����� N���<� � �1=���� � ���  ����1����:����2�5��8�� �� ���>� ������� �����1���
������  �>��� �3� � ��� ���� �� 0��� � �10�0�0�9� � � ��� ���9� ����� ��� � � ��� ��1������>�
����������� ���5�� � ����9� ��� � � �=5���� �=���� �59� ��� �� �������� ��� �59� ��/�1���
��� ��� � � � � �� � � ������������ ��� �59� � �/1��� ��� ������ 2=��>� 1��� ���8�:�� 1���
������ 1���� 	 ������� 10��0� �� ��� � � �� � ���� 1��� � � ��>� �5&� Q����� �����������
1� �� �D� ��>��� �� ��� �9� ��>�8��������� 	������ N���<� � � 1����:���� �� ���� 4�����&

6 #�� � S�� 7
GH�� �����9� ����1��� ��9� �� ��� � �� ���1��� ��� ���������&� 	 ����� N���<9� ������

��������� � 0��� �������4�� 3�0�� �������� �5��?���&� &	�����N���<9� � �����8�: ��  ������9�
10� ������ ��������� ��� � �� � �� � � ��� � � 2=��� 1����� 4�/��� ������� 10�0�0��4�� 3�0�
������ 10�0��0:0�  ���
2���� �59�2�������� �5&�

	����� N���<9� 1�

� 0��� � � � 3�0�9�������10�0�� � � �� / � ���/� 1���  ���4�80��
$����R� ��&�408�� 3��0�� !( � � �!� ') �

���� 10� �<�� � ��� �5��?� 3���� �������� 4�/����� � � �� �� � ���&�
K������� � �  �������� 1�����8�9� � ���3����8�� 8�������9� ���4�����9� ���������� �����;
� � � 3�����9� � 0� �� ���� ��������9� ���������� �<�5�10�0�� ���9� � ����<� 1��� �3>�� � ;
���9� 1��� �0���9� 1��� ��4����� ��������� � � � � � ������5�� : � / �� � �9����������9� / �/ � � ;
������ 9� � ��4�������1� � � �1� � � �  ���������9���� � ���� �9� ����� �� � �4�80���2�������
1����� �5��?&1������������ ����8��������1�  � � ���:�����&

� �� � 1����� 10����9� 	������ �5��� ������ ��������� � 0 ��� � ��� 3��0:0��� 1�����
 � � �����&� 	������ N���<� � � � � �� � � � � �810��� ��� ����440�� 3�0��� �59� ��/� 1���  ����
4��� ��� �:�� 4���� �3� � ��� �: �� �<  < � � �810����:�����&� � �810�����9�1��� �85���;
�����&� 	�����N���<� � �  �����9� �5�� ������ ����� ���� � �5&� 6 , O � $� V�b�7

GI �� "0����9� 5��2�����9� 53�9� � � � � �� ����>������� � ���0�� �044��� � <� �;
������ 1��� ��������&� �5��?9� �1��?� ��� � 1��� �0 � �� �� 	������ N���<� �� � ���0��0�&� 	�;
���� N���<9� ���� � �� ������ ������:�� ������0��� �����9� ���� � ��� ����  ����� � �� �� � ;
� �9�3�� ��� �:�� � 0���� ��� ��&� B�0�� �0� �� ��� � � � �� � � � �� �3� �0�&� �0� �0�55�� �
�<�� � �9� 3�0���0� ����� � �>���>�����9>��� �044�����1���  �������&

	����� N���<� �������� 1��� ������� �/�� � � �1�����8�� <��� �� �3 � �� � �4��� �����4��
�������� 1�����8�� <��� �� 1��� ����� 1��1����� �3�� ����&� Q����� ������2�� � �� ����
1���  ����� 1=���� ������:�� 4�/����� ������0��� � � � ��� 3�� ����� 1��� 5��9� �<�� � ��� �
	 ������ 3����5&
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	 ������ 	5�� �  �� �� 10� 1����� �0� �� ��� �� 2�5��8�� �� ����� 1��� � �D� ��9&�
3�0�� �5�� ���� =������ �:����9� 3�0���0 � �� ��� � � � � ����� �9� 3�0�� � 0��������� ��;
������9� ������������ �������2����� �:�� /� �� ����0�0�&� 6� � � ���� * � �� � �

GU��� ��� �D9� � ��� � � � �044������&� 	 ����� N���<� ��� �D� f � � ��� � � ��������� ���
� 0 ���������&� B�0�� � ���>� 1��� ���9� 1� � ��� ��� �� � � ���>� 1��� ������ 2�1�� �3����9�
� � � �0����:�����&� ����N���<� � �5�������9�� �� �� ��� ����9����2�5��� ������9� � � �� � � �;
���� 3�0�� � ��� ���� � �� � �0��0��� �5&� ���0�0�� �0��������� �0������9� 5���������9�
2�5���< ��< �� ����5������9�� ����������� �� ����9���10������9� � � �<�����������&

	������ N���<� � � 1=���� � � ��  ���� 1���>� � ����� 3��0:0��� �� ��� ����� 0��� �� �
1��� �����9�  �>��� �3�� � �9� ���� �� 2�5��� �3 �0 0�9� ���� �� ���� N���<��� 5�����
��4 � �� � ,4�� ��18����/��� ��&� ����� �� �9�� � ���=5����2�5��8���3�0� � ��3�&

G* �� �����9� 2=5� 4�� 2=�� �� �044���� � � � � � ���&� 	 ����� N���<9���� � ��  ������
�<� �� �1���4�/�����1����� f �2=�� ��� ��������� ��� � 0���������&� T=��� � ��� �

� ��� N���<� � �5�������9� � � ��  ���� 2=���� 4��1�5�� �������2=������ ��:���  �� ;
����� 2=�� ������ ����� � ���� 3��� �5� 4�� 3�0��2=�� ����������/� 1 ���5�����2�5���� � ;
��� �5� 9� � ����<��� �� ��������� 2�8������� ��� 0���� � ����8������� 4�� ��� �� ��/���
� �� �A������ �� �� ����������9� ����� ������9�1�����4�5�����������2=���9�1����&

T�>��� �3� � ��9� 2=��>� 1��� ����� � �� �0� �� ��9� 1����� 1 ��� �3����������9�
1=���� �3����������� �/�� � � � 10�0��� � �= �� �044�����9� �0�� �5� 1��� �5� 4���������
����� ��������9� ������8���� � 4������ �<�5� 3��� �5���&� 	������ 	5�� �  ��� ���� 1�����
�3����������� � ���55�����9�1������ � � <�������������� � 0���������&

"��1�� �� ����3�0�1����� ���9�	 �����N���<� � ����� ������������2=��>�2=5��;
� �� ��� 3��0:0�0� 1����9� �� ����9� �0�0� 0�0� ��5�����9� ���1�� ������� ��/� 1���
� � �� � � ��� � 10�0�� �59� � �������� 2�1�� ��� �5� 1��� � � � � �� � ����>� 3�� ���� / ��� ���
�0�0�&� F� F� 6�� �� �,� � [
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� � ��< � L��2��1��������� � ���5� 1���� � � ?� � � � � �� � � � �9� ��>����� �� �< ��
� �� � � � 2�1����� � �9� ������� ?� � � � � � � � �� �0� � 1���� ��&� ���0�0�� 	 ������ �5��� �� �
�3�� 4�� �� �1�����L��2��1����3����� �5������ 0��� � � �D�� �6�&	&7� �����?���� ����
2��� 2�1�� >����� � 1��� �0 �� ��� � 4�� 1��� � � � ��������8��102��� � ��A� �10�0� � � � �� ;
� ��&� 	 ���� � 102��� � �/1 ��� � �����9�� �� ��0�0�0�� �� �� 8�� ��� ��� � � � ��3��� ��� �50��
������� �5&��02���� � ��� ���� ���/ �� � � � �1����8��4�5���������� 3�1�����L��2��1�����
������� � �10�� �����9� 3�0� �L��2��1����:���9���������:���� ������� �������2=����;
��:�� �3: �0� �3��� 2�����&� �0� 4�5���� ��� 5�� �� � � � � � ��� ���� ���������9��� �� � � � �<�� ;
� �� 3� 5�� �� � �0 ��0 �0 �9� 3� 5�� ��� � � � ��?� � �� � � �� ���9� 1��� �59� ������ �5� 1���
���� ���� ��� � � �3�0�&� 6�O $ �� � 0 �SS,

"��#���������� ����� ������%� $

H ) , � � ��A� �0�� � �9� 	������ N���<9� � � � � ���� �� �� 0��� � ���4����:���9�1����:�;
��� 1��� ������ �/ �� � 4�� � ��������� �1 � � � �� 4�� �� � ��� �10�0�� ��� ����/ �� ������������ � ;
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�� �� � 9� 3������ ����� 1 ��/3 � � � ������� � ���� � ����� � �� ����� ���9� ������ ���� � �� ��5�
� ��� � ���&� � ����������� 1��� �����9� � �� � �� ������9� ��� ��� �� 2�5��� �0���� � �: �� �� � ;
���� �� 9� ���������� � � �� �� �9� ��� � ���� �� �� ��� �� � �1���� � ��� �� 4����� 1��� � � ��� �� �
4����:���� ��5��9� ����������� 4�� ��� � �� /�4������� � �>��� � � 3���� 4����������� =����
2��� �� 2�5��� � �� � ���� ����� � �� � 4��� 3�� �� � � 3��0:0�0� �����9� 10� 8�������� � � � �;
������ 1������A�������� ��8����0��� ��9�1��� �0�55�� � ������8���� � ������ 3��0:0���
���� ���1����&

� � � � �� 3� 1����� �<��� ��  <� �� � � �<� �� � 1 �� �4�/�����1���� �59� 3�0�� ��5������
0�20�� 3���� �1�� ���� ��� � ������ �� � �1 � �� �� 3��8�:����� � ����� � �59�� �� � �� ��������;
 �� � � � �� � �� � � ��� � � ������1 � �� ��10�0� �0:0�0�������� �59������ ����� �1��1���� � �
� � � ��3����� �� ����� �9�4�5�����������<� �� ��� � ��� �� ����� �5� F� � �� � � � ��� ���� ��� �� ��
� � � ���� ������ � � � � �1���� 3�� �59� 4� �  � ���9� 8�� ��� ��� � ������ � � � �� �� �� � �4���� �59�
�1��?��� �� � ��� � � � �� �0� � 3�0��� � �10�0��44��8�� ������>�����:�� ��5����5&

. ���� �� � >��2��1�������� 4�80���������� ��1���� 3�� �� �� � 4���� >��2�� ;
1������� � 1��� ��� �� ����� � � � �� � ��� ��� 1350>� � � : � ���� � � 1��� ��8�� � ��������� F� ��>��;
� � 9� ����� ��: �� � �� � � �� �8�� � 1 ��� �0 �0 � � �2��� � 9� ����������� � � �� ������ 4�� �;
8������ ������� �� �� � � 9� ����� ����9� �: �/�� ��9� �� �� �� � ��>�� �>� �0 �� � � �� �10 �0 � ;
� 0 ���� ��&

� �� � �� ��� ����� 10 � 2�1�� / ��� ��9� �3 ��0 � / � � ���� �� � � � �0 ��� �� � �9� ����������
� �� ?�4�� �����4?�4�5���������� = : �� �� � �9�� � � � ��� ��� � �0��� �� ���� � � � � � � ���9�����,�
�� ��� � ��� �� �<� ���9� ���� ���� � �� ��� � � � �/ �� �1 ��� ����<�?����1���3����>��2��1��;
������� ��� � / �4�����&

� ����������� 	 �����N�� �<9� � � � � �� ��5�� 4�� � � �� � ��� � �� ��� �����>��2��1��;
���� 2=����� � � 4�� 10� 4�/����� �� �� � �� �� � � � � �� � � � ]� �88���� ��<�?� �]� ��� ��� �� �
3�� 0 9� ����� � ��� ������ ] � � � � �>�� �� 9� 	 ������ 1���� ����&� 	 ������ � � ��� 1��2��
� � �� � � �� �� 9]� � �� �: �� � �8����� � �� � � � ���&

H(�� L��2��1�������� � � � 1���:�� 4�� ��� �3�0� �� �44��8�� � �� �=�����:�� �5�
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�4��&&� � �5����� � 0��� � ��� 6�&	&7� 1����� �����5������� � ���� ��� ��� �� �� � ;
� � �� �� � � � ����� �3��L��2��1������&�B �0��� �� � � � 3��0:0�� ��9�1���������������
� �����9� 3�0� � 1��� ��� �: �� ���<� � ��� �9� ��� 0�0�?9� ��� � ���?� 4�� � � �� 5�� ��� �/ �� �
� �� � � �� 4�� � ��������� 0�20�9� �1��?� 1��� � �����&� B� � �1����� L��2��1����� � �;
��1�9� 3�0� � 1��� � � ����� � ��� � �/1 ��� ��1������� 0:��� ����5��� � �� � � � �� � � � � � ��
� � � �05�0�&� h � ,
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S�������� �� � � ���� ��9� =��� � � � 1����>��2��1������� � 0� �� / �10�0� � 0 �0�&�
L��2��1������� 0�� �� ��5��� � ����� 1���>� � �� � � � ���8�:���� �� � �� � �� �� � 1 ���2�;
����� �3����� � � �� �� � : � �� >��2��1�������� 4�80������ � �� � ��1����5� 10�0��� � 1 ���
� 0 � ���� � � � �� � � � 3���� �� �9� ��� � ���� � �� ���A������ ��� ���1�� �� � �� �>������1���8���
� ���� �C&� � ��?�4�� �����4?�4�5���������� �� � � ���4�� ��� �� � ���1���8��� � �����C� " ��;
� ��4�8��������������� � � � �� � ��� �� �� � � ��1 �����8�5�>�10�0��1���8��� � �����C&

%�4����� ���� [� " ����� �0 �0� � � � �=���� �=���� >������� ����1� �� � � � � 1�5��
0�4?� ����������� ���������� � ���� �� � 2����:���� ��/� �� ��� �� �������&� � � �1�����
��� ���� �9� ��� �3��� � � �� �� � � 1���� ������9� ���1���� � 0 � �� / � 3����1�/� �� ���������9
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������ 3�0�� � � � ��<� �� 1��� ���� ��9� ��� � ���� � 1��� � �450��9� 2��1� <��� ���� ����
� � � �� � ��� �� � �1������1���� �� ��� � / �� � � ��� � ������ ��� ����:���2=��1����C

�3:�0�0� 10�0�� ��9� >��2��1������� 3���� ��50�09� �� ��� �8��� �/ �1���� � � ��?
� ������ � ����� �<������ �5&� . � �6 � O �# � 0 � O � O

����5J� *�	�7����� J��!� #

I^� �	 ����� N���<� � �5�������9� ���������� ��� �� �� ���������� >��2��1������
2=����� � � 3��0:0� 2�1�9� 10� >��2��1��������� 1��� ���� �� 4���������� � � ��������;
�� � ��� � �� �����������9� �� ��������9� �����������9� � �� � � ��� ��� �� 1��� �� � ���>� ���� 1��;
� ��� � ���&

�0� � ���>���� � � � 1��� ���� ���� 6�0�0�7� � �� ��� ��� 1 ��� � �/� ���������� � ���>���;
���&� �=����8�� ��� 1������ ���>���� ��&� T=��� �����B��������� � �5����� 	 � � �D�9������
������� � �5����� T � �E�9� 3�05� ������� � �5�����?� ���D�9�3�� ������� � �5����� �1��� ��D��
4����� � � 3��0:0� ��4����� 3�0�� �� �� � ��&� ������ � ���>����� 2����8�9� 10� �� � � �
����� /�� 1����8���9� � �5����� � 0��D��� 4����� � � 3���� N �4���D���&� ����8���� � �5�����
� �40�D�� 4������� %�10�D�0�&� J/��8���9� � �5����� ���D� � � 4����� � � 3���� ��8��D���&�
�=����8���� ���1�5�� �L��2��1���� �5��4����� � � 3���� "0�D���� "��?� ���&

�0� � ���>����� 	 ����� N���<� >��2��1��������� 4���� � �� � ���&�K���9�10������
� � � P�1����� � � ��� ��� ������� � ����� 4����������� 1��� ��� � � 4���� ����� 1��� 4�/�����
����� � 4�� ������ 10�0�� 0 �0�&� �0� � ���>����� 6"���1�� ��<�?��7� �������:�� 2�1��
�<�5� 3��0������ ������������� �3����� 6"���1�� ��� �4���7� 4�� P�1����� � � ���
4���������� �������� � � 3��0������8������� ��� 6"���1�� � ��5���7�����4������&

I ' �� 	 ����� N����� � � 1����� � ���>����� � �?� � � � � �� � � � 1�5�� � �/ �� � ���5���&�
��5� 102��� 1� � � � � ����������� ���������� 10�0��� � 4�� ��� �4?� 3��0������ �� � �� �
������� � ���>����� � 1����� � ���1�� ��<� ��3��0:0�����:��9��<� �� ��� � �� � ��� �4?�� ���> ;
������ L��2��1������� ������ 10�0�0�� 0 � 3��0:0��� ?� � � � �����5&� S�� �����5�
"0�D�� �� " ��?� ��� 5�� ���� �5�� � �� � �� ��� �� ��� � ���05� 1��� " ���1D�� � �< �?�
3��0:0�0� 4�� 1����� ��� �4?� � ���>����� � ��������� � � � � � � � ���� � ��� 1 ��� ������
8�� �D�10�0� �0:0�0�1���>��������5&

������ ��� �4?� � ���>���9� �� ������� �/�� � 1����� �� � � � �9� 1��� �� �0�������
���1��� 10�0� � 0 �0�&� � ����������� 10������ � ��>����� ?� ��� ���� � ��������59�
�0� � ���>���� � � � ������2�� 1�������� �� �<�9� ��>����� �� �< �� � �� � � ���&� � ����?�1���
� �� ��� 3�0�� ��9� 	����� N���<� � � 1����� � ���>����� � � �� �� ��� 4�� � ��� N���<� � �
���������� �3�� � ���1�� 3���� "0�D���� �5�� �� �������9� 3�0�� ����� ������� ��� � � ��� �;
� �:�� /��� ��&

IG�� �02��� ��� �4?� ����>���9� �����5����� ��� �� ��� � �480�� ��:�����&�	,�
��� �� � �������� 2�/� � 9� 1��� /3 � � � ��������� ������� � � �� � � � 3��0:0�� �� �10�� ���> ;
������� 1��� /3:0� 1��1����� � � �13�� 0 9� 1��� ���� �� � � � >��� 5������ � � : � ���� � ;
����� 0:������>� ������� � ��� � � 9� ���������� 1��� ����� � �����?�� ���>�� �� �0 �� 0 �0�&

�����<� �� �02��� ����� 10�0��� � N�4���9� %�10�9� � � � � � ���������� � �� � � �/ �
1���� 	������ N���<� �� �0��9� � �40�9� ���� ������� �����<� ��4��� � � 3��0:0�� ���> ;
������ ����� ��:�����&� 	 �8��� "0�D���� " ��?� ���� ��9� �� � �� � ��� 1���� ������ �� � � ;
� ��� � ���05� 10�0�� �� �� � ��9�1�������� ���� 1���� ��1����� 0:��� �� � ���&
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IH�� " 0�D�� �� "��?���� 1����� <�������9� � �� � � 1� ���2�8����� 1�55��� � �5;
����� L��2��1��� ������� � �� � �51������ � � 3��0:0� 2�1�9� 1��/3� � ����1��� � ���� �
������� � �� � ��� �51������ � 9� ��5��� � � ���&� !��A�0������� �������� ������������ ��;
�����>9� � �5����� �101�� ��� ������� � �� � 1����� ����1�� � ���� ��� �050�0� � � � 10�
� ���1�� ��<�?��� � 1��� �������� ��5���������� �0����5�� ����� � 9� � �5����� B�� �����
� ��<����� 5�� �� �� � �� ��� 10� ��������� � � �������� ��������� ��5���������� 1�����
���<� � � ����5������� 1����� ������ 2=������� � 9� 10����� � � � ���� 1������ 6�0������
 ����7� ���� 4����� � ���&� � ��<����� 1����� �0�������� 10����� � 2=��� ������ ��5����
2��� � ���&

�4��&&&� ��� ������� ��51�����8�� �0������  � ���� ��5��� � 9� "0�D���� "��?���
��� �� ��� ���5� ����� ��51�����8�� 5�4��� � � �� � � ���� ��9� 10� � �5� ���� � �� ��� �4?�
����>���� ��������� �����5� "0�D���� � �1?��� � ���0��0�&� �0� ��� � �� � � �� �0���5�,�
�����&� Q����� ����� ��� �4?� � ���>���9� �0��� �� � 1����� ��4��9� �0������ 1 ��� ��5�;
� ���� � ���0�� 3����� �5���� >��2��1������� 4����� � ��&� "0�D�� � "��?�� ���9�
1����� ��������� <��� ���� 4�� 1����� ������������ � ���0�� 3�� ��� �5���� >��2��1���;
� �5�� 4����� � ���&� � ����������� 10� � ���1 �� � ��?� ��� ���5�� ��<�?��� 3�����9� � ��;
� ���� ���1�������� ����5��������10�0� � 0 �0�&

I I �� "0�D���� " ��?� ��� 1��� <� ���� 1���� ��1����� 0:��� ���>� ��� �� ��� � �� ;
�05� 1��� ������ 10�0�� ���� =���� 1��� � � � �� � ����� ��9� 10�0� 1��� ����� � ��������
� � ��� ��� ���� ��� ������� ��� � � �� � ���� �&� � ��<����� ������ �������� 4��� ���9� 10����9�
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����4?� � ���>���9� ���� N���<� � � ��������� � �� � �� � � � 1����� �0��?� � � �0�0;
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1����� � � � �� �����>��� �:��1� ���
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6'7��"0�D���� � �1?�9� ���������� � ��� N���<��� � 4����:���9�1����:���9�1����;
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�3��0� / � <��1���� ��� ��� �1���4����&
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N���<�� � 1=���8�� ����� � � 3��0:0� ������2��1���  ����5�� ����2����8�� � �������
2����� ������6��5�7� �������&
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��1���9� ��� � ��9������ � �<������� � � �2����&

*) �� "�5�� ���� � �� ���� ?� �� �� � �� ����� �����8��1�����1����������&� �0������
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����� �����&� � ��10��� � �� � �� �� � ��������� 2=��� 3� ��� ����� � �50�� 2=�� ������ �<;
5��� 2������&Q����� 3�0�� 10� �3� �� �� 40�� ���9� 10� �������� ��5����� 1��� � � � � ��
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�� �� �9� � <D10�0� ����� �� �� � 1 ��� ��������� 3���� 10� �0� �� ��� �� � � � �� � �� ����������
� � � �� �����9�  ����� �����������  ����� �� ��&

������������ �� ��������� 4�5�������9� � �� � �� � � � � ������ �� �0��� �� � �9� � �� � �;
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\ I �� �� � � �� �10� � ���0�� � 0��� � ��� � ������?� 6G)^7� ������������� �3: ;
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�0����� ��/ � �� ��� � � � � 1������&� "������� � ����?� � �5��1����� ���&� L��� � �� � � ����
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1��� ���4��� =��������3�0�0�8��� �� � � �>���3�0���0C� �0��0�0��� �������1������&�
T=��� � ���� ���� �0�0�� ��� �� ��4�������������1 ����< �� � �4����>���1 ���� � ���5������
0:����9� � ����<� 3�0��� �10�0� �� � 1�����8������ ��5�������� ���>�2����9�>���3��0 �
3�0�&� � �:��� ��� 10� �0�0�� �5������ 0: ��� �: �� � �8����9� ��� �� ��� ��:���>� ������
2=���� �5�1��������2��� � �10�0��0�&�B� ��� � ��� � �10 � �0� � 0�� ��� ��������5&

"�5�����������0�0�� �5�1 ���� �� �����1=��� �1��� ��8������ 0:����9�� �� � � ��� �5;
��: �� �� � � �1��� � � ������ �5&� � �:��� � �� ��� � ���� � �� � ��<��� 3��0:0� ��8�������
������1����� � � 3��0�&

\G �� ���� �0 �0� ���� �1����� � � � � �����9� ��8������ � ������ 3���� ��� �9� ��� � 4��
�3�0� � � � 1���� �0 �0 �0� � �0�0� �� ���05� ��� �� �8�� � ����8���� 05��� 3�0�8�9� 3�
�0�0�0� � �0�0� >��� 3��0 � 3���5&� � � � � �� 10����� � � � 1���� �0��� ���05� ������9�
�0�0� >��� 3��0 � 3�0�&� S���4� � �� �1����� � � � � ���� ��������� 1� � =��� � �� �05������
10�0��0�&

T � �D� � � ��� �5� ��������  ������

\H �� � ������1����� � � �� ��5�9� 1��� � � � �������9� 1����� �0���9� 1����� 3����9�
�: �/�� �9� / �/ � � �� �9� � ��4����9� � ��5��� �� �1 �  � � �1��� � �� � �4�� ��� � �� � �1�� �� ��;
��� �� 0 �� � ��1���  �� � � � 0����� � 3�� �� �� /��� ��� �5������&� � ����<�� ������=>�: ��9�
������ �������9� ��������� ��� �5���&� �0�������3 �0� � � � �0� ��� ��� �5���&� ������������
10 � �� � � � �3�0�� ���� ��1������� ��� �5��:���� � <� �� 3���5&� � ��5�� � � �������� � � �
1�� �� � � � �>� ��9� ���� � �1�� � �� � � � ��0�0�0�� ����1 ���5��0����� � �1��� ���0���;
����1����&� �0�0���� � �>���� � 1�� � � � � 4�� �� � ������� 1��� ���� � �1�� >��� �������5&

"�5����� �� ���� �0� �34���9� � ��5��� � ���� � � � � � � � �>��� � � 1������/ � �����13 � � � ;
� � � 4�� 10 � 13� � � �0�0� ��� � � �0�0� � � � � ����� ���� �� � � 3�0�8�9� ��� �5� �������&�
	 ���� � 10� �34�� ���� �0�0� � � � �0� /�� � � ��1����&� � � ��< � 10� � ��� � � � �5� 1 ��� � ������9�
�/�� � � �� ��:�� 1 ��� �0�0� � � �135� �5&� �09� �� �� �� 0��� � ����2=�����&� � 0�����
3���� � � �10�0�&� �� �� � �10� K0�0��� �2=���10� ������9��/�� � � �� ��:�� �0�0� 135��&�
Q����� 10��������������� ����1 ���5��0���� � � �1���8<�5�2=���� � ���&� �0� �/�� � �� �  ;
� ���� ���9�10 �5��0�� ���� �� � �� ��&� �0�������� ��/ � �3�������0������� ����� � ��3 �2=;
���� �� �� ��� ��&� �0������� � ���� �� 1 �  � � � �0�������8���  ���10�0� �0:0� ��� � ��� � �
�0���� ��� �� � �� �9� �>��� �3 � �� ���4��4������� �����,&
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T0 �0 � � �� ��<4�� ������ � � �9�1���  �� �� � ��� �5� ������ ���9� � � �� ������ ������>�
�/��� ���� �� � � ��<�� 3�� �������� ��5� ���� �5&� ���� ��8��5������� �0����4������ ��3 �0��
4����� 3����9� � �� �� ���� 4������ ��9� ��� �5� 3��0������ ������ ������ ������ 4�� �/ ��;
� ������� ���� �10�0�� � � �� � ��&

6� ����?����� 2=��� � � �� ����� � � � �A�0�9� �=>�� �4�� ���5���� � �3���9�1�� � � �� �� ;
� �5���&7

\ I �� �3:�5������ � � �4�� ��� � � � ��5��� � �������� 3�� ��� �5���� � � ������9� 8�;
: � �9� �� ���9� �����9� � � � �� � �4�� � � � � ��� � � � �9� � ��� ��� �/�� � � � ����>� �� � � � � � ������
� � � �� ��� ��� �5���&� �0� 13:�5��� � �9� �5���� 3���� ��4��� 2=��9�  � �D?� 1 ��� �0����� �
3�� ������&

���9�>���9� �� � �� ��0�0�0���� �� ���� � �1=������&

\U�� �0� �/�� � � � � � �� �>� �0� �/ �� � � � =����1���� �� ��4�� ��������4������ ��� �5;
� ��&� � ��� ����� 10� ���4��������� 1 ��� ���� ����� ������ ���� � ���� � ��&� ����5��8��
� ���1 � � � ���8���&

\ * �� � ��5������ 1 �  � � � � ��4�������9� �/ �� � � � � � � ���� � � �� � �� �� � � �0504����9�
=�� �������� >��� 3��0 � 3���5&� � ����������� 10 � �� � � � 13� �05�� ��9� ����������9�
� �: � � � � 1���� 3���� ��� ������9� � ��>��� � � 3���� �������9� �������9� ��1�2��� ����� � �
��������� ��� �5���&� ���������� ���9� ������ 3���� ��4��� 2=��9� ��� �5� ��:�����&� Q�����
10����� � � � �������� � 3��8���� � � � ��1 ���� � � � ��10�0� � 0 �0�&

\ \ �� ������������ ��� �5���&�K��� ����� � �<�� ��&�� ������2=1�:��� � � ��� �5����
%�1��� � �� ��� � ���:� � � � ��� �5���&

\ ) �� � ���5� 3 �� 3���� �� � � �050����� � �0���� �� ��� ��� �5���&� �0����9�2�����
13:�5��� � � � 3��0����� 4�� 2����� 3�� ��� ���&� ����������� 10� �� �� � � � >�� � ���
� ��������>���1����&

\ ( �� N�40���� � =�� ������ � ������>� / �� � � � �0 � 0��� � �� � �5� ��9����1����&�
-��� � 1��� �3 �0 �0� � � �� �������� / �� � � � ���� ��� ��� �5���&� �0� ���9� �� �� ��
	D5�� �� 2=��� �/���1����9� �� � � �� �� �� �� � �� 2=��� 109� ������� ��� �5� ���� � �9� � �;
� �����>��� 3�� �������� �3��� ��� 0�� � ��3��8�:�������/��� �5&

) ^ �� "3��0 � � �9� �� �� � � � �� ��9� �8�� � � � �:9� �3 �0>� �0���� � � � � � ��
4���� >������ 10 � ��5���� ��� �5��:���� � � �1��� � � 3���5&� � � � � �� 10� �� � � � ���� ;
� � �� � � 05���3��0������ ��� � ��� � � �� ������ ������ �04����� � �:�����&

) ' �� �4� � �� ��� ��� �� � ����:�9� �3�0� �0:0� ��>����� 4�� �/� ���� ��� � � � �� �0�����
>��� ����&� �0�������� 2�����8���  �� �� �� � ����������93������ 5��0���� � � �1��� ��
1�: � �� � � � ���� ��>����������5&

"�5����� �� � � ���� ��� � ����:�� ��� �0�� � � ��� �5��� �� � � / �� � ���9� �� � � �� � �� ���8���
4�� 2�����8���  ������� �5� � �� �� �� � � �3�0� � � � ���������9� ��������9� �� ��� ���1����� �;
� ��8�� ���� � ��� � ���&� Q�����10� � � � ��3�0� � � � � � � ������&

��:��� 1��� ��4��� 2=��� � � � �� �� � � �9� ����� �� � � � � ����:�� ��� � �0�� �9� #���� ���
��1������������ �� ��9��� ��� � �� ���� � � ����� ������&

)G�� �: � �� 080� 4���� �: � � � �� � �>���� 2�/�����8��� ����:�� � � � � �� 0��� � 3���� ��;
� �� � ���>��������� 1�� �� � �9� ��1�����4�� � � �<� � � ���4�3�0��0 ��0�&�� � � � ���0���� <�
��4� � �: ��� ��9� �/�� � � �� �8�:�� �5� 4�� ��� �� � 1����0�0�135��&� Q�����10� � � � ��0�0�
"3�0���� ��1�����&
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)H�� 	 � � �� 4���� �0�20�� 1��,� �0��� 1 ��� ��8������� � �  � ���� � �� � ���>�����
� � ��� �� �� ��� �5���&� � �:������ ��� � ���� � ��� �8�����������1�������&

)I �� � � �<���9� �� ��� ��9� ��� � � � �� � / �� � � � 10� � �� � � ��� �� ��� ��� �5��������&�
� � � � �� � �8����� �������� 1 ���  �� � � � � ����� �� �� �0������� / �� � ���� � � � ������� ��� �5�
��:�����&

)U �� P���������� 2����� ����� 4�� 2����� 2�4 ��� 3���� /�� 0�����9� 2�1������
�<��� 3�� ���� � � � ��� �5� �������&� � ����������� 10��� �� � � ���1�������3 �0� � � �� �� ;
���9� ��� �5������ � � ��� � � � ���� 3�� �59� � �: ���� ��1��� � �� �8�����3��0:0�1�����&

)* �� P���5�� � �� � � ����� ��� �5���&� � �:��� ��� =������ �5������� ��8����� 10 ;
�0� � 0 � 3��0�9� 3� ������ � �� � � � ��� � � � � � � � � 3�0�&� K���5�2��������0:�� ��� �: ����;
����� ���>�������9�� � / �� � � � �� �2�/��:����� �1���1�: � �� � � � ���&

) \ �� . �8����� � �� �� ������ � �� �8�����&�N�� �5���� �����/� � � �� ����� �� � � ���� ���;
� � �  �� �� �� �� � �=����8�� ������� ��� �5� 3��0 � 3�0�&

) ) �� L��� � � ����� �� � ���>� 2����� 1��� ��52<���� �3 �0 � �0:0� ��1�����9� �0� � ;
����>���3���5&� � �:������� �� � ��� ��� � � �>����:��� ������1�������&

) ( �� K���5� ������ ����� � �� ����8��� ����8���� � �  � 10�0��� � >���1 ���13 � ;
/ � � � � ������ � � 3���� 1 � � ��1���9� 1��� �0 � � � >��� 3��0 � 3���5&� � �:���� ���5����;
��� � �8�����������1�������&

"�5����� �� L��� �� � � �� �0 �0� 1��� � ���� ������ � � 3����  ��9� 1 � � / � � �  ��� F� �5�;
������ ��8����� ������ 2=���� ����/�� >��� 3��0 � ������ �59� 4���4� � �� �������:�� � ���
� �  ��� � � 3��0�&

(^ �� ���� ��� ��9� >��� 3���� 1 ��� � � �� � � 4���� ���� �5������� � � ��>� 0�0� �� ���
��� �5��:���� � � �1 � �� � � ������ �5&� � �:��� � �� �� ��� � � � �4������ �: �� � �� ��1 ���� �  ;
��� �� � � �3����� 3� >����:��� �����9� �������� 4���� 1�� � � �� � � � 2=������9� 3� ��� � ��� � �
10� �� � � ��� �� �� ��<5�� �2����&

( ' �� "�/�9� �3 �0 � � 2�1��� ��4��������� �� ������10�� � � � 3���� �����9� ��:����� ��,�
��� � 0�� � �� ����&� � � � � �� ���� ��:�������� �/ �� � � � �  �� � 4�� � <� �� 1 ��� ������ 10�0� ;
� ����� 1��� ���� ����� ������9� ��: ��� �� �� �4�� ������ �����1���� � �� � � �� � � � � �/���,�
������9� ������ ��� �5��:���� 5����� 4��� �5&� �0� � �� �� �� 1�: � �� � � � ���&� Q�����
10�� � � � �3�0� � � � �2�/���&

T��D�� � ��� �5� ������ �����  �� ����

(G�� � ��������� �D��1���� �� �  � �D�� � ��� �5� ������ �����  �����9� ��� �5���
��� � � ��� � � � ���� 3��8��� � �� �������� 1�� �� �� � � � � 2���5�4�� � � ��������� �����������&�
W���5� 3�������  0��� �� ��� �

6N7� ����� ����� ���� ��������9� �������9� � ������9� 1�4������ �3���� 2����� o4�,�
�?]� �� �� � �� �� �<�����9� � ��<�1�� 5�� �� �� � � � �������� 0504��������� / �� �>� ]� �,�
5?]� ��� ���� � �0 �01���� �9� �:�5� �3�0�0� �0�0� �0���9� � � �� ���2��1���0504����/�� �>�
����� ������9�4�80��� � � � � � ������>� �� ��� � ��4�� �����>��/�����&

"��������� � ���0�� < � � �9� �3�0������4�� �����<5�� � ������������ � �� ����� � �10�
8�� ��������&

6T���?�� ������ � ��1��������2=��� � ��?� ��� �5���&7
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6G7� � ��� ��� � �� �� � � ��4�� ��� � � ���������� �:�5�������� ���������9� �0 �� �� � � �
� ������ �� ���������4��1��� � �� ��4���������� �� ��������&

K������ �0  0 �0� � 1�4������ �����9� ������ ��� � ����55��� 3��0:0� 8������� ��;
� �5���4����&

F6H7� � ��� �������� ���4��������� ��40���� �9� ��5�����9�=���� ����� � ��������&

6I7� �< ����9� ����� �� " ������ � � �� �>� 13:�5���� ����5��� =����4����  � �D?�
 ������ 0�20�� 3�� ����5��� 13:�5��� �� � � � � � � ���4������ 4�� 10� �� � � � � �1�: � ��
����� �� � � ��������&� �0� ���4�������]� � � �� ]� �����&� "�59� =�� �� �=����������1=�;
�����&

6�����?����� 2=��� � ������ �� �� ���2�1��8����9���� �:�9� ����������� � � ��� �5� ��:��;
���&� "������9� �������9� ������������ ��� �5���&� T���?�����2=��� � �� �� � �� �1������85����
� � � �< � �������9� �������9� �������9� ���� �� ����� � � � ��� �5� ��:�����&� Q����� 10������ �
��>����� � � � � ���0�A������&7

6U7� � ����������  ���>� 4�� �<8�� � 3���� ��4���2=��� ����3 �0��4����������1�����
� ������&� Q����� 10������ � ��>��� ��� ����9� ��� � ���� �05�����9� ���>��� ���  � �D� � �
� �� �AD�0�&� �0�������� � � / � � � � �  < ��D�� � �1��8�� � � ��0>�0�9� 5�8��� 4�� ��� ����
� �� � � ��� � � � 10�0� � �����5�� ���&� ���0�0�� �1�� ���� �� � � �� ��� � ��9� �� � � �� ��4�� ��;
5����� � ��� � � �� ����� ����>��� � �����5�� ���&� �1�� � ��� ��� � ��� �1 ������ �5����4�� �� ���
��<�?��� ��� �1����� ������� ������� ��>��� ����1���4�8?1����&

6T���?� � �5��1����2=������ � ������ 3���� 1����� � ������� �5� 3��0�9� /3 � � 3�;
�0�� ��� �5� � �: ��� ��&7

N�� �5� 3�� �����  �������� ���������� ���  0����� ��� �

6'7� 	 ������ � 4��������� � �� � � ��3 �0� �4��2�����2�1�����?�4��4�� ?����4����;
���� ���������9� 10������ � ��������9� �� �� �� 	D5�� � � 2=��� 2��?5�9� �� �� ����� 2=���
���������&� � � �4<� ��� �� � � �� � � ��4����� 2=�����&� " �� ����� ���� � ����>������ ����;
����� � � � � �� � � �� � �10��� ���< ��4�����&

6G7� � ��� ��� � � � � �� �� � � � �4��������� ��� �8�9� /�� �� �9� � � ��� ��2�1�� ��4����
�����������0  �� � � � ��������&

6H7� � ������4���������8�:������1�: ���3�0>�]= � ] � � ��������������4������ ��
����������� �����9� 2�1��������� �������&� �����<�� "3�0�0��2�1����� ������� 3��0;
:0�2�1������ �9�=�� ������� ������������&

N�� �5� 3�� ����� �� �� ��� ������ �����

(H �� N�� �5� 3�� �����  �� �� �� �� W����� 2���5� 4�� 2����� � � �������� �� � �� � 3�;
�0�9� � ���?�  ������� ����44��� ��� � �9� � ����<� �5� 1��� �0�0�� ��� �5��:���� 2����;
� �� � �0�0�0���� ����4�������9� L<� � 3�� �����  �����9� 10� 1�� �� � � � � 2��?5��4��
���?��� ����� ������� ������ �5&� 	 �8��� ��� �5��� ��� � ���� �� � � �?� 3�0>� 3�� �� ���
�D��1� ��� �� � 10� ����� ����� �������� 4�� � �� �� ��� � � � � �:������ ����� ���� 8�������
����&

(I �� . �8������ 2��?5�� �������� 1 ���  � �D�� � �� P<� ��� ���� 1 ��� � ��������9� �����
� ��� �� � ��� ��� �9� � <� �� ���� � � ������ �����������2��� � � ������9� 2������� ������1���
3���8�� � �� �5�� � ���������� � ���D� 3�0�&� �0� � �� �� ��� �� ���� ��8������ ���������9�
��� �5��� ���������� � � � �D3�� � �9� � �D��4��������&
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������������ ��� �5� ������ ��� ������ ��1������� 4���� ��� �5� �/ �� � ���:����
1����:�� �����9� 1��� � ���������� 1���5� ��5��� 8<� ��� ��8������ 2��?5�� 10�0���9�
��� �5�� ������ 3���5&� ��8��� � ���: �� � ����2����8�9�10� �0�0������ �� ��	D5�� � �� �
�� �� ��4����� 4�����&� �� �� �� �0��� � ����� ��4�������� 2=��9� 10��� � � � � �1��� ���,�
� � �� � � � ��5��� ��8������ 2��?5�� 10�0���9� ��� �5� �<��� � 3�0�&� �� �� ��1A�K0����0��
��4��������2=��� �<���� 3���5&

(U�� . �8������ ����?����� 2����8�� �� �0�0�� ���10�� ��: ��1�� � � �� �4������1�;
���� �= ���� � 1��� 1=��:������ �5� � ������9� ��� �5�� � ���D� 3���59� � �D��4� �������&�
�0����� 5�������� �5�������� �0 � �� �� � �480�� 3�0�8�� � �� �5������ � ���� �� � ���D3,�
�0�&

"�5����� �� ���� � ����� 10�� �� � 1=���� 1��� ��8����9� �3>0��� �� � � �� �: �� 3����
� ��� ����� �= ���� � 1���� � � � � �5� ���� 1�:� �����&� � �5��� ���� 1�:� ���� �5&� . �� �5��
� � � �D� 3�0�&

�� �� � �1A� K0�0��� 2=��� �����9� 13�0� � � ����5� 1��� � ��� � � �� ����� 10�� ;
� ���� � �D��4���&� �������� 4������1�����10� � � � � ��5���� �� ����� � �10�� � ����� �D�
��4� ��:�����&

� ����5�� �� �< � � 10�0� �0:0� ��� � ��� �9� 2����� 1�� �� �� � 4�� 2����� ��1��� ����
����� � ��� �5� 3�� ����� ��� �5� 1���  �� � � � � 1���� 1���� 10�0�� ���� �� ��D� �� � � / � �� ;
� �� � ��������&� N�� �5� 3�� ����� 1���  �� �� � � �D��4� ��� ���� ��5� � �� �� ������� ��� �5�
������ ���� 1���������� �������� � � � �:�����9� 1����� ��� �?� � � � � �� �0��0�9�10�0�2�;
� ��� � � �� � ��� �5��1� ��� ��� �� � ��&

N���?��f �N�� �5��� �� � 3 ��� � � �

(* �� N�� �5� 3�� �����  ������� ��� �5��� ����/ ��9� � �� �� ������� ��2=���� 0�;
������ �3�����4�����&� �0�������1� ��8�����0������ �� �� �� �4�� � � � � � �� � � �� � ��� �5��;
� �� ���&� � �:������� ��� ���� ��9��5�� ��9� 34���� ��� 4�� ������ ���� ��� �5��� �����&�
�0������ ���������� � �5��3�05� �

6'7� �0�������� �� �� � �3�0����� �� ��?�� f � ��� �5��� �� �
� ����� ��� ���� � 4�� 1��� ��8������ � � � � �� � � � � � � �1��� �� 10�0��� � �1������5,�

���9� 8���>�������� ����5�4�� �������������9� � � ��4�/����� ��� �5� 3���� � 0���� � �0��������
2��������&� �0� 10�0�� �� �: �� ��� � ��� � � ����� � �� � ��>����&� . ���� �� � �������� �5���
�����8�����&

�01��� �������� 4�� 1��� ��8������ ��� � �� �� � � � � � � �1��� �� 10�0��� �  �� �� �� ���
��� �5� 3����� 0���� �4�� � 0��� � � � � �0�������� ��� �5�����&

� ����<�� � ���?�1��� ��8����� �� K�:�0�9� ����9� ����5� �0��������2�������1���;
8�:�� 2�1�� / �/ � � � �0�������9� � ��4�������9� ��15�������� /�� �8��� �0�������9��/ �� � � �
�3�0�9� � ��8�� ��� 2�1��  �� �� �� �������� � � 3���� �0���� ���� ��� 2�������1����&� � � � � ��
��� �5� 3�� ����� �0���� ����4�� ��:��9� ��5A8����� � �� �D���� ���� 4�� �/�� � � � � �� � � � � � ��
���2�� 1���  �� � � � � �3����� ��1����� �9��<� ����8���:���9� �� � �� �� � �1��� � � �0��������
� �8�����2�������� �5&

� ��D?� 3���� 62=�����7� ��8�������9� ��������9� �<� �� �� P��������9� ��������9� �3 ;
�0����� 2����8���� � � � � �� �0� ���� ����� ����� ��� �5� 3�0�&� ���� � � ��� � ��� �� �� ��� ��,
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� ������ 5<��� 3�0���� 1 ��� ����� � �� � � � � � �� ������� 3���� ��4��� 2=��� , � ���� ������
�<5�� � 2����5&� �0�� ��:��  �� � � � � ���2�� 5<��� 3�� ���8��� 1��� � � �� � � 10�0�0���� 3�
 ��9� ���� ���� � �� � 1��1���5� �0� �� ��8�� �� � � � � �� ��� �� ��9� � 0�� � �� 13 � � � ����
13��� � � � �0� � �� �9� � �>����2�1�&

� ��D?� 3�� ����� ��8������ �� ���� 10�� � � � 3����  �� � 1 ���� �>��/�� � � ��/� � � � � �
� �� �� � ��� � � ��� � � �� � �� � � � ������ ����� ��� �5� 3�0�&� ���� ��� �0�0�0�� �� � �� �� �;
���� �044������ �D��1 � � � 3�0�0�&� �3�� ��� � �� � �� � �/ � ���� ��� ��� �� �8��� ����8����
���� ��� �<5�� � ��&� �0�0�� ����8������� � �� � � �� �� � � �  ��9� ��� � � �� �� � � �� � ��9�
� �� � ��� �0��������� ��>� ��� �5��� � � � 3�0�&

� � � �� 1� � � � ��>���� �9� ��� � � ���� � � � �� � � ��8�� 1����8�� � �>��/� � � � � 9� ����;
8�� � �>����� � � � � �9� �/��8����>� � � �1 ���� � � � � � �� �� � � � �� � ��� �5���� � � 3�0�&

���� � ��1��� ������:�� 1��� ��>� ��� �/� � � � � � � �� �� � �� ��� ><� � 3�0�&� � ��� �;
���� 1=���� 1 ��� >���  �� �� � �3�09� �����1��1��������� �� ������&� � �:������ �3�0�0;
�0� � ��� �� �� � 2������� ���� >��� 2�/� 3��0�9� 3� ������ 10� �3�0� ��������� ���� ����
1�: � ��� � � � 3�0�&

L��� 3���� 1���  ���� �0� ���� ��� �� �� � �0�0�0�� � � ����� �0� ���� �0�20�� �0� 4��
1��� � �>� �/ �� � � � � �� �� � � �� � ��>� �/ �� � � � ��� �� �� �� � ����4����&� ��4����� ��9� �0�
�<��� 1 ���� � �� � 2��� � � 3��0�&� �0� ��0�0���� ��8��� �0� 4���� ��10������ �������0���� ��;
����� 9�2�/������� ����� 3�� ���:��8������9� � � ���������8�>� ��� �5&

"�/�� 4�� ������ 2�1�� ������ ������ � �� ���� 3�� �� �� � >���  �����9� ��>� �/�� � � �
�/� � � � � � � �� � � ��� 4�� � � �� � �� � � � � � � �0�0� ��5���>� ��� ������ ��������8���� � � � � ��
1����������� ��� �5���� � � 3�0�&� ��5��� �0�0� ���� � � ��� / ��� �3�����&�=���� 1���  ���
����� �0� �/ �� � � � 4���� �5������ �0���� �=���� �� � �0����� ��� � �� �� ����� �����������
� �8������� ������ � ��� ����8�� ��� �5��� � � � 3�0�&� 	 � ��8�� ������ �����9� �0 �0 �0 �;
� �����9� ��� �� �� ��� ���� �0����3�0�� ��������50�� ���� �5&

�0����� 1��� � �� � � ���� 13� �� � � � 1���0504���/� ����� ��� �� � �� ��� ��� �5�3�0�&�
" ������� 0504��� � ��� � � ���2�� 5����� 4��� �5&� S��1���054���3�0� � � �� � � �2�1��1���
� ����� �/� � � �� � ����� �>� ������ ����� ������ 5<��� 3������� � 3�05049� ��� �� � �����;
� � � �� ��:5�� ��� �5� 3�0�&

N3>��� �� � � ��>���>� � ��  �� � >� ����� � � 3������>���9�>��� 3�0�8��� ����������;
� � � ��� ������ ������ ��� �5���� ��/� ����� ��������>� �=�� � �3 �0�0�0� � ��� �� �� �2�,�
������ ������ ��� �5�����&� ���� ��4��� 2=���10� � �>����� � ������� � ��  �� � ���5���� �����
><� � 3�0�&

N����� � � � 4���� �3>�� � �� � � ��>��� � � � � � �� ��>���9� >��� 3�0�8�� �/� �����
� �� � � ���4�� � � �� � ��������� �0�0�0�0�9� >����:������2�9� ��������� ��� � � � � �2����8��
><� � 3�0�&� Q����� 10������ � 3� >���  ���� �� � � � 3�� ������ � ���05;
�0�&

�/�� � � � 0�� � �� 1���  ��� �� � � � 3���� � � � �E����������1������ ���4����5��;
�����:�9� 1��� � �>� �/ �� � � ��/� � � �� ��5������ �0� �=����>� /��� � �� � � �� �� � ��3��������;
� ����� ��� �5���� � � 3�0�&

N�� �5� 3�� ����� 1��� �0� �/�� � � � � ���>�  � � � � 3���� 10: � � �9� ��>��2�1��  ��;
���� �/� � � � � � �0��� ���������9� �0�0� /�� ���>� ���  � � �� ��: ��2����8�� ��� �5���� � � 3�0�

W=���� ����� 1��� ��8����9�1�� � � �� �4���� /� � �  ���� ����2�� ���� ��� � � �3 �0 � ;
� 0 � 3��0:0� 0�0�0��� � 4���� ��������� �3�0� �0:0� � � �  �>��� ������� 3� 1������
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4���� / � � �  ���� � 1��� ������� � �� �� ��8�� �� � 0 � �� �� 3���� ��4��� 2=��� �� � � �� �������
��� �5�3��0 � �������&� � � � � �� ��� � � �� ����� �� �� � �� ��� � �� �� � � � �0�20��0�&

J5������� � �8�����4���� � ���� 10�0� � � � ��� ��9� 10�0� � ��� 5�� ��� 10 ��  ��;
: �� � ��� �� � ���� �5��� � �8������ � �3�� �1� ���� 135�0:0� 4�� � �� �� �� �3�� 0� �0�
0 �0�0:0�4�� ���� � ����1��� � � ���� � � 3��0:0� ��� �5������ � � �� � � � �����&

���� / �  � � � �� � �0� 13�0����� ����88��� ��� � � 3���� �/ �� � � � � ���8��� ><� � �0�
���� ��8������� ������ � ��� �� �>� ��� �5��� � �: �� �� � � � � � �� ������ 3�0�8�� ><� � 3��0 �
3�0�&

6G7� �� �0����� � � � � � ���� � � ��3�0����� ��� �5��� �� �
��  � ������ �!�"#$� �� ��%� �&��'�'�(� =� �� )� ���'�� )� *� +,-'��.�%'� /� ,

�/ �� � � ��� �5� 3�� ����� 1���  ��� � � �� � � � 4�� ���� �� ��5� �� �� �� 0��11��� � � � �
������ 10�0� �� � ���9� >��� �59� 1��� 2�1�� � �� �D�  �� �� �� ��� �5� �0� ���� �/� � � � � � �����
� � � � �� � �� �� ��� ��� � � � � � ���8���� � � � � �� � � � � � ���� � � �� � ��� �5� 3�0�&�Q����� 10�
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� � �� �� ���� � � �9� ��� �5����4�� � ��� ���� �/�� � ���1�����8�1�����&
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���5�� � 3���5&� � �:���1 ��� ��4��� 2=���10������ �=� � �� �� ��� � ������5�5� ����������� � ��
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������ �������� 0540���� 1��� �� ���� 2=���� 20��� ��� ���� �<5�� �2����&� 	 � � � �� �4����
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� � � � �� ���<� � ������9� �0�05� 1 ���� ��� � �2�8���� � �����&� � �1�����,�
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��� � � �� � � � ��� ��� �5���� ���� �1����&�. ���� �� ��0���������5�20���� �� � ���� ;
��� ��� 10� ��� �5��:�� ��4�� � � ���� / � � �1� � ���� � � 0 � �� / � 3�� ����5���������:��
��� ��5��� �����1����&

GG)�� ���� =5��� �/ �� � ����� � �� � ��� � � 3���� ��� ��� � �: ���1 ��� =5���
�0�0��� � 1����8�� =5���� � �� � � � �� 10�4������� ����� � �� �� � �� � � � �� 10�0�&�
� �:���=5��� �/ �� � �� � �� �� ����� � �� ���� ���� �<5�� �2����&

�����<�� �0� 10�0�� � � �: �� � � � ��3��� �� ����� � �� � ��� � � 3������� ���
����5� �0� 10�� �� �� � �1����� ��� �:�� � <� �D� 3��8��� �0�� ��� � � � � �� � 3�0>�� � �
10� ��������0�10��8��� 3�����44����� ����� � �� ��1��� � � 3�0�9�10� ����� ��� ;
�� � � �3����� �� � �� �� ����� � �� � ��� ���� �<5�� � 2����&� Q����� ����� � �� ���
��1�1��� �: � � � ���&

GG(�� N���� � �� � � �� � � ��� ��9� ��� �5� �/ �� � � � �� �� � �0� 10�0����
��� �5�� 1350�� 0 � 3�0�9� �1����� ���>� � �� �� �� � ��� �5� ���� �����<5�� �2����&�
� � � � �� ��� �5� ��� � � � � �� ���� � �� �� � ��3���� �0�0��10�0�� ���9� 10� ��� �5���
����������8�>� ��� �5&
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�%�� � � � ��� � � $�H����1�� ��������������&�������!�H������ ��������1���9������!�H����C
���1�� ����9�������� ���9������!� H�������1��  ������	� ���������!� H�������1����'�������	� ������C
����	� ����1!� �������� ������!� ������� ��� '�����!��������� �)�����1!� H�������1�� �)���� �
������������� I����&���������� '�������� ���1�� �1�1��'�J1!� K)��� �����1!� K)��������1�1� �
��')�)�)�� ��� ����1���  ������1!� K)��������1����������������9������!� 8��������������	 �
L������������1!� -�������1����������!

��&�������������	� ��������������������!

���� ���� ������1�� ������������ ��� ����� ��������!� 2�����	� �����	� ����)�� ����1���( �
������9������!� �������'������!� L������� ��'����	�  �������'����!�H�&������������!

2���)�� ��������!�H��������������)�� ��)�� ���1�����1�������!�M�������(����!� �)�9�� �
���*��� FJ������ ��)���� ��� �������������&�����!� H��������� ����)����1!� H����1� ���)� �
����1���� �����!� �����1����������9�����!� 2��'�������������������!

K��������� ����1������ ��'*�����	� ����&����!� K����������� #���� ����������	� ��&�����( �
�����!� K������ ��������!� K���������� �� ��9� �����������&�!����������������������!� N����( �
��������1��������������!
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6'7� � ��A� �0�� ��9� 	 �����N ���<� �� ��4�?�9� � �� ��3�0��4����:���9�1����: �� �
1���>� ������� � �� � � � � � � 1����� 1 �������5����&� �0���� ��3�������5����� ����1���:��
� � � � ���� ���� ��� �5���&� . �� �59� �� ����� � �<� ���� ��9� � � �1�� � �0�0�0�9� �0�0� �
�044������9� � �D� �� �� � � �E��8����&� � �D���9� 10� ������� � ��� N���<�� � � ���4?�
�050�0� � � ��������9� 	 ����� N���<� �� � � � �8����� 10�0���� � � � ���4?� �0�1�� � �� �
����9�� �D� ����/ �� � ���0�4?�1��� � � � � [&



� � � � � 	 � � (U

������ � � � ��?� ������9���������� ��� �5� ���� �������� �� �� � �� � ���&� ��5�� �
��42���� L��2��1���� �5� 6����������<��� 4�����<�7� � ������ �5� ��� ��� �1�D�������� ,�
� � � � �D��1 � �� � � ��� �5� ���� ����� � �������� 10�0� � 0 �0&� T0� ��� � �� 4��� ��9� 10�
��� �59� 1���� 2��� ��� �3:� ���� � �� � �44��9� ��:���� ���2��� ���1��� ���� � � � � �3�;
��� 3�� ��� �5���� �� �� 4����� � �������� ���&� �3���� � �D��/� 2�8�������1� �4�� ��� ��;
��5� ���5� 3�� 0 �0�&� ����8�� ��1�4?� ���� �<8�� � 2=������ ��4��� ��5���� � � �8�����
��1�4�������� � � � � ����5� ��� �44��9� !�8�1,��  ������� ���� �� �����8��2�8�������40�0�
10�� 0 �0�&

6G7� "0�D�� �� � ��?� ��9� � �1����� ����������� ��� �5�� �����1��� /3� � �� ��;
���9� ��4�������� 4������ ��9� 1����� 10� �� �� ���<� � � �� �� � �� ��� �5�� ��� � � � � ��1�����
1��� � � � � � �� � �� 4������:���� 2=������&�58�� ��� 1 ��� <� � ��� � ��?� ��  0� � ����������
]! ��0��� [� ����� 4��D� � 3�0��� � �0 �D�� � <� ���� ��� �� 2�5��8�� 3�0� 4�� ��� �5��
� ��< � � 4�� <� �1�� � � ���� ����� ���9�  �>��� �3� � ��� ��� �5� F� ���1�9� ���0��� 0�20��
3�� �� �� �  � � �� �� �� � / ��� �� � 2=������ � �� �� � � � � ������&� � ��������� 	 �����N���<,�
� �� � 5����� �� � � �� �1 � � � ��� � ��� � � � � �1�������&� 	 �����N���<�1������ �����������5��
1����&]� 6'7�. �� �5����� ���1�����5�������&

��:��� 1��� <� � ��� 8��?��� ���  0� � ��������� �� ]. �� �5�� ���� �� �����59� ����� ��
�3��3:�0� ������59� 5� �<��� � � � 4�����59� �����������5� �/ �� � � �� ��� � � � � � �� ���  �� �
�44��8�� 2=����� � � 3�0�����5� 3�0� 	 ����� N���<� � � � � � � � � � 10�0��0�05&��
�����5���� 3�� �5� ��  �>��� �3 � �� �9�	 �����N���<�� �>��: �� �5� �� �����2=���&]� 6G7

���� �������  � ����� � �� ]. �� �59� ��� �� � � ��� : �� ��&]�10 �0 �0 �� 0  �0 �&6H7
��:��� 1 ��� �������  � ����� � �� ]. �� �59� �� �� �� � � � �1�� � � � 1 ��� �0��0�9� ����� �

��5���� �������� ����44��� �����9� � � �1��� �� �� �0�0�0� � ������ � � � � / ��� ��� ]�
� ����������&6I7

� �� � 1����� 10� � �1����� <� � ��� � � 9� ���?����9� ��� �5��� ��� � � � � ��1����� ���
	 ������ �5��� ��5��� � �1��� ��� � �� ��� � � � � �� � ��10�9� � ���01�1����1 �� � ��3��0:0;
�0�2=����� �: �� �<�����&

6H7� � ��� � � �� � � ��� �59�>�� �� 0��� � � ��1 ����1�� � ����&� . �� �5�����5������;
����� � �� � � � �� �3 � �0�&� . �� �5� F� <���9� 1���:� 3���� � � �� � ����� ��� �/ �� � � 0�� � �� �
4���������9� ������ �<5�� � 2����� >��� ������� 1��� ����5����� &� �0� � ���� � ����5����
������� 2���������9� 	 �����N���<� � � >���1����� �� �0���� � �9� �� �� � ��� ��� � ����8��;
������&� �0�0� ���� �� � ���� � � � � � �� �� ��� �� �1�� >���  �� � � ���� 3���� ���� N���<�� �
���� � �5�>����� ��� �������� 3��8��������&

� ����������� ����5� ��� �� �� �� ��� � � 2��� � � /380��� ��� �� ��� �5�� ��� ���;
� �� ��� � �������������&� �0� /380��� �� � 4��?����9� ��� �5� ���� ������ � � � �� 4�� ��S

b&� ��O8�V[� V �̀� l��V�� � � �� 6'7

S� ]S�'� � ��! D O � � ` � 6G7

�� D� 6H7

b� ��� ` � � V � `� � Vb �VD� 6I7
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� �� ��������&� B�� � � � � � 2����:�� ������ ��� �5� � ��� �� � � � /380:0� �4��?��� �� � � ��� ;
� � � � �� �/� �3 � � ��� � � 5������ 3�� �� ��� �5���� �� ��� ���� � � ���/� � �=:��� ���� �<;
5�� �2����&

6I7� ������� 1���� � ��� � �� ��� ���9� � � ��< � �	 �����N���<�� �1�����8�� � �D� � ��
������9� �� �� � ��� ��� � � �<��� 3�� �������&� - ���� "��?�9� ! �� �� � 3���� � �10�0� ,�
� 050�� ���������5� <���� ��� ��� � � � � � �� �� �� � � �� � � 10�0� � � � � �8�1� ��� �5� ��C�
� �� � �����9� ��� �5� �3������ 10�  � � �� � � 13�80�0� =��� �:�9� � �D10�0�0� ��A�0�,�
�� � � 9� � �D� ���� ��� �� ��5?�� 1��� ������ ���� � � � � � � ���� ��0��0� �4�5��������� ���� ��2�;
���� �: �� / ��� � � � 3�0�&� . ���� �� � �� ]. �� �59�  ������ 1����� �� �� �� � P<��D,�
� ��] � � �� ��� � ���&�6'7

�0�0����1 ���1������ �59� �0�0� ��� �5�����9�� ��1�� � � � �� �� �� �9�����������;
���� �0�20���� �� � � �1��� � �� ����9� ������� �=������������ ����3���9� ������9� � ��;
��9� ���������9� ��4�50�9��� ��5�� � ���4�� �� ��� �� �� � �2�5���1����1�� � ����&

?��� � � ��� �5� 4����������� ��8�� 2����������� �0��0��8��9� ���� N���<� � �
��8��1�� ���8�������������9�� ���� ����� ��� �40 �8�����&

. �� �59� � ���4?� � � � � ��� � � 1�  � � � � � � �?� � � � � �� � � � � � �  �� � � 4����9� ����;
� �� �� �5�������9� ���������9� � 0���5�� � � � �� � � ��� � � ��1�>� 3�0�&

6U7� S�������� F� ��� �5��� � �  �AD�� � ��� � � � �� � �� � � ��� �9� �<�� � �� �� � � �� ���;
��� �� ��8������� ����������&� � � � � �� 1 ���� ����� ������ �5�� ����� �5�	 �����N����
�� � �� � ��5���� �/ �� � �����9� ����5� � �E10�0� � �  � � ���/ ��9� ��D5�� � �/ �� �� ��� �� F�1�����5�
��� �5��� ���/� 1 ��� �<�� ���� ����440�� 3�0�� ����1���������10�0� �� �11 ���?1����� ��
1������ � � ���5�� �<��� �� � � �� ����� ��� � �� �/ �� � � ��� �: �� /��� ��&� �0� �0� �?�4�5���;
� �� � ������� � �/1 ���  � � �� � �<�� � 3��� ���8�:�� � � � �D�� �0����� �1����9� ��� �5���� ���
�����8��� � �� �������� � � � � ��� �� � � � � �� 4���9� ��� ���� ����� 5�� ���� 3�� ��� �5����
��10�� ����&

� ��� � � �� � � �� �?� � � � � ��� � 5�4��� 10�� ���8��� 1 ��� /3 � � ��� �������� ��8��� ��;
� �5� ���������� ����� ������9� 4�� ��� �5�� ������� �� ���� � 4�������9� �1�� �� � ��<��� �;
� �� � ���������5�3���� �������2��������� ��5����� � � 3�0�&

W�>������ 3��0�� 10�>��� � �1����9�10�>�������5����1�� � �� ��<��� �� �� ���4�� �
��������� [&

. �� �5�������1 �D5����D1���� ��

6*7� � � �<�� �� . �� �5� ��� �� ���&� P��D��]�� ��4<�]� ���&� � ��<�9� �02�����
] �0 � ] � �<���������&� T � �D?�  ������ � ]1��� �: �� �5� � �1����� �1 � � � ��� � � 9� � ��<� �4��
�5�<�� � � ��1 � �� ����&]� . �� �5� ����������]�0�����]� �����&

���� ��� ] � � �< �] � L��2��1��� ������� �5� � � � � �� � � � F� 6	 ������ � �� ������
4������� � ��<� ���������� � 0��� � ����� 4�� ��<� ���� ���������� � 0��� � ��� f � ��<;
��[� � ��� � �� �5� � �5����� �0��� � ���� 4��� ��� � �� �5� � �5������ 0��� � �����<��;
� �� � � �<�� 4�� ���<� � 10�0�� ]� 2�1�� 1 ��� ���5��� ��>���� � �0�� � <� ���� � � 2����&� �0�
�� �<�� 4�� ���<� ��� � � �� ���� ���� ! ��0��� � � ��� � � ��� � �� �5��� � � � � �� �� ��9� ���,�
�� ��� � ��� � � �� ������ ��5�� ��� � �<��� 3�� ������ ���� � � � �� � �4��10�4�����������������;
��� 3����1�:����:�� �5�9� ���� ������� �5��2=����� � � ��� ��1�������&

6\7� N � �1 ���� � � � � I��� f �	 ������ � �1��]� &�
��� �� ���&� �� c0as � s� 6� 7
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6�7� "���� � �� 	 � � � �� � �0�� �� ���&

6(7� " ������ �� "0�D�� �� " ���� ����1 ��� � �� �� �� 3�0� �����&

6'^7� ! ���A� �� � �2����� �: �� � �� � � �� �� ���&� �������  � ��� ��� � F� ��� �5���
� ��� � ��� � � �3�����:�������1� � 4�� ������� ��5�1���4�5�����4��� �����&

6''7� "�4�� �� F� !0�A��� � � ���� �� � ��� �>�1��, � ���� � ��� � `�ah,� f �
��1�������11�� ��<5?� � ����8��� � � � � �� �0�� �� ���&

6'G7� ��8��� �� . �� �5� ���� �� �� � �:������ � ��5���1 ��� � �� ����� ��� ���N���<;
� � � ��5�� � �/ �� � ����� �3�� �� ���&� ���1���� �����8�� � �>����� ���� ��8����� ]��8��,�
�� � � ] � �����&� ]� ��80�]� ��1���� ��� ��8��� ��� � � �4����8������� ��<��� ��2����&

6'H7� P����� �� ���� ��8��� ���������1 ��� � � � � � ]� �1��� �� ��11�� ��<5?� ]� � � ;
� ���8���� � � � ��3�0�R��������&

6'I7� " �D��� �� . �� �5��� ��  � � � � �� �/��9� ����� ]� Y �3 � � � � f � ��� � �� � � �� �
����<���]� ��� 3�0� �� � �/ �� � 3�0�� � � ���&� ��� ��� �5��� �� �� � � � � � 3�0�0�0��� � 1����;
8������ ]" � � � �0�<� f � ��� � 3 �0 �0 ] � ����8������ ��� ] � � � � �� ������ , � �3�� 3�0�0 ]�
�����&� �

6'U7� ! � �D� �� �� . �� �5��� 1=�� � ����� � � � � � � �� 1���� ��� �����&� T=� �� � ��� ��
���� � � � �5��� � �� �� �� ���� ���A� 4�� �� �� ��8������ � �8�00� 1��� �� �D� ����&� ���� � �;
� �5��� ���� � � � � � ����� � ���� ���A� 4�� ��8A�� 10�0�0��� � 3� ��� �5� �� �� �� �D� ���� 10;
�0� � 0 � 3�0�&� J /� 4���� �= ��� � � � � � 10�0�0��� � ��� �5� ��� �/� 4���� �= ���� � �D�����
3��0 � 10�0�0�&

6'*7� T � � � f � / �� �� �� . �� �5������ � � �� �� �� � � �D� ��� � � � � � ���&�=��� �� �D� ����
1��� ��� �5��� �44����� ���� �� �D���� � � ]  � � �� �k � �] � �: � � � �� �� � � �D� ��� � � � � � ]  � � � �
�<���]� �� ��&� J/� �� �D� ���� 1 ��� ��� �5��� �/��8�� �� �D� ��� � � � 1 ��� ]  � � � � �<� �]� ��;
� �����&

.�� �5������ � �4D��� ��4�� � � �D� ��� � _
�

6'\7� . �� �5���� �� � ��59� 4�8�>9� ������9� � ������>� ��4�D������� �������&�
T=��� � ��� �� 	���� 4�� 1���:� 3���� � � �� � ����� ��� � 2����� 1� � � � � ���� 0�� � �� �4�;
��������9� �0��� �� � �� �D���� �� ���� ����8�:�� ��� �5���9� 1��� �� ���5�� �������&� P0� ��
��� �5�� ��� 10� 8�� ��������&� S ����� 4�� 1�� ��� � � �� �5����� � � � 1��� �� 4�8�>���&�
� � �5� ��� �5������� �44��� 4���� �3���9� � � �0 �� ��� � �44��� ��� � � � � �3���� � ��� �� �
1��� ����� � ��� �5���� ��� 1��� �� ���������&� N���4��� ��� �5�� � �� 1=������&� �����
4���������� � ���5�� ���� N���<� � � �5���� �/ �� � ����� �� � 4�� ������9� ����440���� ���� �
1��� ����� � ��� �5����� � �� � �1��� ���������4����� ������>���&� "0 �0�� ��� �5��2�1�&

������ 10� ��� �5������ ���?�� 3�� ��� � � �/ �� � 1 ��� ����� �  � ���� �9� ����������
4����F,� ��9� 10������ ��� � � �� ����� ���� ��� 1��� �� ����5����9� 10� �� ��� � � �5�� � � � ���5,�
�� � � �� �� � ��� ����&� �0�������� 1 �  � � � ��� �5������ 1 ��� ��� �� � ��� 4�8�>����9� ���;
�������9� ���>�����4�����&

� ��\



. �� �5������ 1��� ��� �� � ��� � ���0�����9� � ����������4������ ��9� ���� ��� �5���
10����� � � � 1 � �?� 3������ �<5�� � 2����&� ������������ � � �� � ����� ��� �/�� � 10 � �� � �
1���>� 3���2=���10� ����?�4�5��������4���� ��2����� �:�� /��� � � � � �8�>� ����&

6')7� . �� �5��� � � ���E������� �� 2����8�� �� ��1��� ��� �5����� ���� � � �D� ��
�������9� ���� � � �D� �� ��� ���5�� 4�����&� -:��� ��� �5����� �= ��� � � �D� �� ���� �������9�
�= ��� � � �D� �� ���5�9� ���� � � �D� �� � �� �3�� �������� 4�����&� ������� ��� �5����� �= ���
�� �D� �� �0��� � �� � �������9� �= ��� � � �D� �� � �� ���5�� 4�����&� 	 �  � � � ��� �5����� ��/�
� � �D� �� ���5�9� ���� � � �D� �� ��� � ������� �������� 4�����&� K����� ��� �5����� �= ���
� � �D� �����&�������9� �= ��� � � �D� �� ���5�9� ���� � � �D� �� � ���3�� ��������4�����&

P0��� ��� �5����� �= ��� � � �D� �� ���� �������9� ���� � � �D� �� ���5�9� �= ��� � � �D� ��
��� �3�� �������9� ���� � � �D� �� ��� ]�� � � ����4�� ��]� ��� ���� ��: ���1��� ��������4�����&

S����� ��� �5������ �/� � � �D� ��� � ��1�������&� � ����� � � �� �5��� � � � ��� � ���� � �D;
� ��� � � �1��� ����&� N���4��� ��� �5�� � ��� �� � � �D�����&� � �:��� ������� ��� �5���� ��� ���
�5��� � � ���� �D� ����&

������10������ ����� ����<��� �� �� ��<��4�����8�����&

. �� �5��� � � ���5����9�  � ���� �9� ����������

'(�� . �� �5��� � � ���5����� � � � � ������&� �0�������� ������� ��� �5�������1� ;
��� �� �� � 10�0�� ���� �<5�� � 2����� ���5���������� �� '� �� � �� ����� � �� � � �� �9�G�� . �;
8������ � � ��� � ���9� H�� ������ �4���9� I , � "�1����� �����1��9� U , � S����9� *�� . �� � ��� � �
�1��� ����&� �0������ ]� �� �5�� �  � ���� ��] � �����&

� �:��� ������� ��� ��� �5��1� ��� �� � � ����1��� � �10�0�� �����<5�� �2����� ���5�
���� ������ �

'�� � ����� � � ���1���9� G , � "����9� H�� " �����9� I�� !��A9� U�� ��80�9�
*�� "����� ���������� �1�������&� �0������ � � � ] � � � �5�� � ���������]� �����&� �0�����
��� �5���1��������9� � �� �� � ��� �� �� � ��� �������&

G^�� K0��������� 3�� ���� ���5��� � 1� � � � ��� �5��� ] �� � ���� � ��< � ] � �� ���;
� � �� ����� ���9� �� �� ��10� KA�0������ � �� � ��� ���<�����2=��� ���5� 3��0:0�2�1�� ��;
� �5��� � 1���� ��� � �� /����� ���� ��� �� �� �� 	D5�� � � 2=��� 1������5���&� �0���R�]� 0;
�0/� 1��0�D����]� � ����&�0����� ���� � � � �5�� � � � ���������� ����5� 3��0 � 3�0�&�
. ���� �� �10� �� ����������� �5�� ������8�����&

� ��������4�� � �8������ � � ��������

G ' �� . �� �5��� � �44��� � � � � ��� � � ��� � ���9� � �8������ � � �� � � �� ��1�����  � ��;
���&� �0����� 10�0� � � � �� / � � ��� �5� ���?�� 3���5&� � �������9� ����� �� . �8������
���� ���� ������>� 20���� 4���� �1������ �8�>� �����  �� �� �� �� � ��� �5�10�0�� � � � �<;
5�� � 3��0:0� 2�1�� ��8������ ����� �� �� ������>� � � � � � �� � � >��� � ) �) � � � �  ���������
��� �5� 10�0�� �� � ��� �<5�� ���&� T=��� � ��� .�� �5� ����8��� ��� ������ 1������ ����
�01����4�� ��� �5�����8�:�� ���9� ��� �5� 3��8�����&

�0�����  � ��� � ���������8��� ���1�� � 6(H�4�� (U7�8�� � ��D����������1����� ���9



� � � � � 	 � � ((

� ����� �4���&
E� #��� �� . N N � � �� E� 8��� 8� 8� �� 5�M� M���V�-� K�� �� T�E� W O �U� #� E8� 8� #� <8� E�#� �� KX� V� �

GG �� . �� �5��� �4���� � ��������� =��� � � � 1���  ������&� T=��� � ��� �.���5���
=����� ���� ���5� 3���9� 1� � ��� ��� �� � 1��� ������ 8<�5� 10�0�� � � � � � 0504����� ]�4;
���� � ������]� �����&� � �� �� ����� � �4���� � ������� �������� 0504����9� 2=1������� ��;
��� � � � � ��5����� ����� �� � � � � �� 3���� � �������&� ��5� ��>������� ��� 10� � ������� ��;
������&

" ��������� 2����8�� �� ������ 3��������� ��5�������� ����������� 1 �  � � � 1�����
1��������� �4������&� K�5�������� ������� ���� ��� ��� �5��9� ��� ��� 1��� ���� � ��3��0�0�
10�0� � � � �� / � � ��� �5� � � �� � � � �4���� ��:�����&� 	 � �� ����� � �� ���� �� ���< ��4�����&�
����� 2=������ ��4��� � �5����� � � � � �� � � � � ��4���� ��:�����&� �0��������� �3���� ����;
� �� � �� ��� �8�� 4�����&� �0� 8������� 10������ =��� � � � 1<�0�0�� ���������� � �� � �� � � �
� � ������&

��:��� 1��� ��4��� 2=��� � �������� ��� �5�9� �� �: �� �� � �= ���� � 1���� ���1���� � ��
� / �� �10�0� � � ���`��1350�0�9� � �: ���1 �����4���2=���� �� ��������9� ��� �5��� �5�����
�4���� � ������� ������ �5��� � � � ��� �5� ����8����� �4���� � ������� �������&� �0�
�� ���< ��� � � �0��0�� � ����/ �� � � � � � �� � � �=��� ��� ��� �4�<���&� ���?��3������4���2=���
����� �� �� �� ��� � �3 ��� � ���9� �0��� ��������� ����4����� � � � � / �� � � ��� �4������&

GH�� P���������� 2=��� �4���� � ������9� ��� � � ���� 2�1�� 2=1������� � ���� � � � �
��5����� � ���� � � � � � � �� 3���� � �� ��� ���� ��� ������4�� ������������&� ����� � � � �� � � �  � ;
���������� 4�� 4�5����������� � �1��� =��� � � �� � � �������� 3��0������ 0504����� �����
5��������&� P��������� ���� � � ���� � �� � �� ��� � � � � � ���0�9� ���� � ������ �� ���5� ����;
������ � � 20�� 3��8�������8������� � �� ����� � �� � � � � �5���� ��2��� ����4�� �0 � �� ��2=�;
������ � ���&

GI�� 	4���� �������� 0504���� �� � 1������� ��� �� �� 4���� � �� �� � �� �= ���� �
1���� � / �� � 10�0���� ��� �5�� 135��9� �� � � �� �= ���� � 1���� � � � � �3���� � � �� �� ��� � / �� �
10�0����135� �5&� �� �� � �1A�K A�0����2=��� �4������������1���0540����� �5�� ���;
���� / �� �10�0� � � � �� / � � ��� �5��135��5&

� ����<� �� . �� �5��� 1��� ���� � � = ���� � 1���� � � � � �3������ � / �� � 10�0� �� � ��;
� �5� �<��� � 3���5&� "�5����� �� �<5�� 5������ � 2=��� 1 0 �� ���� ��5� � �>�: �� 1 ��� 0504�
������9� � ���� � �����5���5�� �>�: �� �� � � / �� �10�0�� ������ ��� �5�1350�� �5&�Q�����
��5�� �> � : �9�1 ���0540�� �= ���� �1���� � � � � �3�������&

GU�� ���� 0540�� �4���� 3�����9� �� � 0 � �� �� 3���� ��4��� � �5����� �� 1� � � ;
������� 2=�����&� ����1���� 2=��� ��:�����&� � � � ��� � � ���� ��� � � � � 2=����� ���8���
1��� ������ 10�0�� ���� �<��� ��&� � ����������� 1��� ��� ��� ��� �5� ������ �� � 2��� �
10�0��� � ��1������� � � � � ��� � � � � �4���� � ��������� 2=��8��� 3���� 10�0� �� � ��� �5��
1350�� �5&� � � � � ��1� � ����2=��8��� 3�0����1350�0�&

G* �� ���� ��� ��� ��� �5� � ��� �� � � � � � � � �� �0�D0� 3�� ����5��� �/���� � 1 ��� �4;
� � �� � ��������� � � �� � �� =���� � ��� �5�� 1350�� 0 � 3���5&� � � � � �� � �� �� �4�������0�
2�1�� 1��� ������ ���� ���8��� � � � � �� 1 ��� � � � � � �� =��� �5��9� � 0� �� �� 3���� ��4���
2=��9� ��� �5�� �<��� � 3�0�&

. �� �5��� �� � � � ��1���� �3�0� � � �1��� � �8������� �� �� � � ��>���� � � � � � �0�0;
�0� � � �� � �10������ �8<�?���&

�=���� 1 ���  ��9� ��� �5� � ��� � �� � ��� � �� �0 �D0� ���� 40�0� 10�0���� ��� �5��
� � �� � ��1350�0�&� Z� ,�O � ,,,,,,,,,,,, ,� , � &



�JKJ"� � � � 	�

	4���� � ������������ 1����� >��/���� �/���>� ��� � �8�0D��� ��� �� /� � � 1���
�4���� 0540�0�� ��� �5� �= ���� � 1������ ����4�� 3����4�� �/������ � � � � ����1��� ������
� � � � ���8���� � � � ����4�� � ����� ��� �5��� ��� � ���� �� � � � �D� 3�0�&� S�����<�3���5&

G\�� ���� ��� ��� ��� �5� ��1���� 10�0� �0:0�0�4�� 3�0�2��� �:�� � � � ���3��0;
:0� ������ 2��� ���>� ��� � � �� � ��� � 1��� 2�8���� /�>��� � 3������ ��� �5� ����8��� 3���9�
��� �5�1��,�8�<D� 8<�5�3���5&

G)�� P������ ���2���� 2=�����8��� � � ��8���� ��8�� 3��o� 1��� ��1��� ���� �4����
� ������� =����� � � ������ �5&� � ����������� 1=���� 1��� ��1��� ���� ��� �5� ���?�� 3�;
� �5� ��1����� �����:������ �3����� �4����� ����������1�����3�����9� �� � �5�A� � ����
��� �� ��� �5��� ��� � ���� �� � <� �� ��:�����&

G(�� ��1���� 10��8�:�� � �� ��� ����� /�>��� � ��� ��9� 4����� � /�� � ���� � �� �
�3�� � � � �� / � � �� ��5��� �� 10�0�0�&� N�� �5� ���� 10��8�:�� � �� ��� �� �� � ��� ���
� � � � �� � � � �������� �1=������&

H^�� 	4���� � ������� � =���8�� � 1 ���  �� � 10��� �� ���� ��� ��� F� 3�0�� �� � � 4��
�� �� ����� �� "�1��� ������� �� 05��� �� � � �� <� ���� ��� �5���� �����9� ��� ���3����10�0�&�
Q����� 10� 4�5������ � 3��0�/� � � �>���� 10�0�0�&� 	4���� � ���������� 1 ��� ���� �� �
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�� ��� � ������� 3���5&� 6'7

\ ' �� ���� ��� ��� ��� �5�� ���� 1 � �� � � 1� ��� � � �� �� ��� �� ��0� � �� � � � �� � ��
� � ���� � ������� �� � �� �� ���1��� ����� �44����� ��� �5���� 135�0 9� �� �� �� 0�� 0 �
3�0�&

\G�� �� � � � � 0� � � � � �� ��� �� � ����8�:�� ��� �5�� ��� �� � ��� �� ��5��� �����5��
]�� � � � � 0� �0� ]� 4�� ] �� ��� � � � ���� ] � ����� � �� ��� ��� ���9� � 0 � �� �� 3���� ��4���
2=��� �<��� � �:�����&� ]�� � � � ���� 1���1������ �5����� �� ��� �� � ��� ���� ] � ��� ��� �;
��� ���1=������&

\H�� � ��� ��� ��� �� �� �� �� ��� � � � � � �� � �� ���>� ��� �5�� 1� �� � �: �� ������
�� �� � ����5� ��� �5�� 1� ��� �� � � 10�0���� 10� �� ��� �9� ���?�� 3�� �� � � 3�0�&�
� � ��< � ]	 ��� � ]� 4���� ] � �1 � �] � �<�5�� � �� �� � � � � � � 1����� � � � � � �������� 1�������
�� �� �� 0�� 0 � 3����5&� � � � � �� ����8�� � � � � � 3������ �� �1��� ������� 10�0����
�� � � � �0� � 0 � 3�0�&

O@P�����%��������� F����������%�����������������$

��������� 	������ � � � � � � ���� �� � ���� � � � � � � �



� � � � � 	 � � '̂ (

\ I �� P�� ������ �� �� ��0� � �� � �� �����9� �� �� ��� ]	 ������� �1��] � ��� �� ��;
� �5�� 1� ��� �: � � � � � �3���� 3�� ������� ��9� 1��� ��� �5� ����� �� 0�0�� 0 � 3��0��4��
�� �� � �� � �44��� ���1��� ����� � � 3�� ��� ����� ���� ���� ����9� 10� �� �� �� � �� ���4;
��� ��F� �� �� �� 	D5�� �� 2=��� 8�� ����� � ���1������9� �� �� ��� ���1���� �� � 0����� �
3�� ������&� Q����� 10� � � � �1�� � �� � � 0�� �� ��� ��5������ 4�����&� B� ������ � �� ���� �
�44��8�� 3�� ���� �<5�� � 2����&� �0�0���� 1���1��� �� ��9� ��� � � � � ��� �?� T������ ��
1����� � � � � � �� �1��� ���>� �� �� ��0� � � ���� ��9� ������ � � ���1���� �� � ��4�1������40 ;
� 0 � 3�0�&

\U�� " ��������� 0�0��� � �� �� ��� � �� � 3��0:0�0� 1��� ��� �<5�� � ��:�����&�
� � ��< � %���� �������� �� �� ��� 	 � �� 3��0:0� ���� ������ � �4���D� 3������ ��� � � � �5�;
�� �� 2����5&� T0� ��� ��� 4��� � �� �� � �� � ���������1�55���%������� ��� � � � �� �� � ��� � ��;
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3�0�&� Q�����109�1��� � 0��� � � � � ���������&

\* �� �� �� � 3����5���� ��� �� ���� � �� � ����� ���� �<5�� � ��:�����&� 	 �8��� � �� ;
������� � �� �� ����� � � � � �� ��� � �� � � ������ 3�� ��� �/ �� � �� � � � �� � � �� � �� ����� ���� �<;
5�� ���&� � ����������� 1 ��� �� �� �� ] � � � � �� �� ��� ��� ��� ��1 ��D� �] � ]� � � � 1�� � �
0��� �� �� � �� �� �� ]� ����� � �� � �� ����� ���������� � � � �� �� �� ��� �� ��� � � ���1�������&�
�� � � � ��1����� ����� � ���8���&

������ � �N��1����

\ \ �� . �� �5��� ]� � � �#� ���� F�	������ � �1��]� �����1� �����&� �09�1�������;
�� � � ���1������&� �0��� ]N�� ��� � ]� �����&� ������ � � ���1���9� 	 �����N ���<� ��� ��5��
��D5�� � �/ �� � 5��������8��� 1��� ��1��� ���� ��>����9� 10�0��� � ��� �5�� 2����� � 9� �� �;
��� �� ���2�������� � � 3�0�&

N����� �9� � ����?���8�� ��� �5��� ������� 1 ��� ������ ��:��9� 1���  ����� ��9� ��;
� �5���� � 0������ ���&� T0� ��� ��� 4��� � �� � �� �5��� ������������ 5���� �� 1 ��� �� �
3��0:0��/ �� �3�� � �1��������������� � ���&

��� � ��� ���<����� 2=��� ��� ��� � � ��� ������� � �� �5���1 �����������9� 10��� ��;
�< � ��5������1�5��� ��D������� �� �� ��0D� ����&

''� a
\) �� . �� �5�� 1� ���� �� � ]	 ������ � �1��]� � � ��� � � � ]	 ��� � � �D��1?�]� 4����

	������ � �1?�]� 4�� ��0�� ����5� ]	 ��� � ]� ������ ���� ��� ���5� �/ �� ��<��� ��&� �0�;
������ 	 ����� N���<� �� ��D5�� � ������ ����� 1��� �� ��1�����&� � � � � �� ]	 ������ � �2,�
�����]� ]� ���: ���� �����]� ] �05A� 1�����]� ]� ��� ���<�]� 2�1�� 1��� ��1��� ���� ��� �5��
1� ����� �5&� Q����� 10����9� 1��� �� �0�� ����� ������� ����5� ��5�� �������� ��� �5&

\( �� ���� �����5���������� �� 	������ ��1<�]� � �� ��� ����� ��� �5��
1� ��� � � � 3���5&� . �� �5� ����������1=� �� � ������ ���9� ������ 3��� � ��4��� 2=���
��� �5��135��9� /����� � <� � �� �: � � � � 3�0�&

]	 ��� � ]� ��� ��8��������� ��������� ��� ��<4������]� ,��D� �� 	 ��<�]� ������ ���� ���
 �� � ����� � � ����8�:���/ �� ���� �5��135��&

$ ���<��� � �0��� � ��� �1��� � 0�����D�� 2=��� �: ��� ��� �5� ���� � � ��� ��9�
� ��� ���� ���� �� �����,� �� ���� ���8��� 1��� � � �� � � ���� ��� �5�� 1350�� �5&� � � � � ��
�44�������4��9� �������&� Q�����1=����1���8������9� =5���� ������ ��:�����&
































































































































































































































































































































































































































































































































































































